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e E] S RN FESERRME EEE (B |

1 HYHE %/ﬁﬂ XA 2 2.3
2 WS | FuE | XOKE 0.5
3 HAENE | S | R 0.7
4 RS [ ZutE XS N7 0.8
5 HREE| 2 [ B ER 0.3
6 HAdEE| A [ XfE 2.5
7 HHAEE | ZuE | B 1

8 HHEE| 2uE | XBER 0.7
9 HHEE| S A 1.7
10 HRAEE | FuE | X E 1.3
11 HArgE| zE [ BFE 0.3
12 RS FuE | gkEE 0.2
13 HHEE| 2 | e s 0.3
14 HitEE| i E'k?.ay% 0.5
15 HHREE| e | BET 0.7
16 HAgE| #ua [ EmRUE 0.4
17 RS FiE | ARG 0.3
18 HAENE| ZuE | BHER 0.4
19 HAEE| ZuE | sk 4z 0.7
20 RS ZuE | ot 0.3
21 HAEE| ZuE | B 1

22 RS FuE | BEAE 0.5
23 HHREE| g | B 0.4
24 WS | FuE | XSl 0.5
25 HiEE| & K BT I, 1

26 HHAENE|  %E KT 1.5
27 HHREE| %E Ik IE AR 1

28 HHAENE| %A K BT B 1

29 HAHEE] % 7] %ﬁ?% 2

30 HHEE| %E 7k 2 1

31 HAtEE] % E'K%‘Jﬂi 4.1
32 HHAENE|  %E i B At 2.7
33 HHAENE| %A K BT A 2.4
34 HitEE| %E =52 1.5
35 HiEE| s gk < 0 2.9
36 HHAENE|  %E XL 3.2
37 HHAENE| & k0 58 2.4
38 HHREE| %E ARE 0.3
39 HiEE| s K BT i3 0.7
40 HiHEE| g ok R 1E 2.2
41 HHAEE| %E gk T 2.1
42 HHREE| %E 7K SPAE 1.4
43 HHAENE| %A gk Ik 7

44 HAHEE] % 7] %ﬁﬂ 1

45 HHEE| %E 7K 2 It 0.7
46 HHAENE|  %E A 0.6
47 HHREE| %E 15 7R 1.5
48 HHAENE| %A K BT EY 1.3
49 HAEE] % kK B 3.0
50 HiEE| s KT R 1.9
51 HHAENE|  %E T 2.5
52 HHAENE| & al HT I 2.1
53 HHREE| HE Ik El 3.8
54 HAEE] % ki H 2.5
55 HAEE| %E g 4k It 3.5
56 HHAENE|  %E iyt A 1.5




57 HAEE] & ik A ZE 0.6
58 HAEE] %& KILCr 3 1.5
59 HAEHE] & XIR 9 1.1
60 |[HfrEmE| e ik A AF 1.5
61 HAENE|  HE FX= 1
62 HAENE| & ARk~ 2.9
63 HAENE| & LR 0.4
64 HAEE] %& [ ZAE 0.1
65 HAEHE] %5 AD R 0.3
66 HAENE| & 2RI 4.1
67 HHAENE| & FEVERE 1.4
68  [4t5temE | toas | % 16.5
69 HAEE | #eas | Bopit 2.4
70 HHAEE | feis | s 3
71 HAEE #eas | BT R 3
72 HHAENE | #eEs | F e 1.5
73 [ HAHEE | teas | REg 5.1
74 WA #eEs | HEEE 3
75 HAEE | #eas [ T E 4
76 HAEE| foas | B 3.5
77 HAEE foas | BEELE 4
78 HAEE| #eas | E=E 3.5
79 HAEE foasy | B 1
80 WS | #eEs | FEEW 2
81 HPHEE | A EX R 1.8
82 HHAENE | #eas | B RKis 3.5
83 WA #eER | AR 3.5
84 HAENE| #eEs | ¥R 1.5
85 HAEE| #eas | XEE 4
86 WA | #eEs | (5 3
87 HHAENE | #eEs | e 1.6
88 |4tSreEmE| sons | GoEs 14
89 HAEE] feay [ GER 4
90 HHAENE| s | AEE 3.5
91 HAEE|] ooy | GEE 3.5
92 HHAENE| #eEs | ZHT 4
93 PR | HeER | AR NAE 4
94 HAHEE | ek H R4 3.9
95 HAEE| #eas | BT 4.5
96 HHAENE | #eas | iR E 4
97 WA | #eEs | N 5.5
98 HAEE| #eas | AERE 3.5
99 HAEE | #oar | Mk 7
100 | #tAEnE| skl [ gk 3
101 [4EAHEE | sens | {2 4
102 | HAEnE | sl | ARG 4
103 | HtAHEnE | gk [ 1804k S
104 | HtAEnE | seas [ 12K 6.6
105 [#EAHEE | sons | iR 3.5
106 | HtAHEnE | gk [ g R 2.5
107 | #tAEne | geak | qiEs 2.1
108 | HtAHENE | #eHs | s 3.5
109 [4tAHEE | sons | EaE 3
110 | HtAEnE | gk [ g% 3.5
111 | HAEnE | #eak [ REs 2
112 [4ArEE | soens | XZES 2
113 [#ArEE | sens | BiEX 4
114 | HHEE| gk | G 5




115 [ gemst | BTl 4
116 |HIFHEE | ekt | B 4.5
117 [HFEE] #onst | £ 4
118 |HIFHEE| #eak | Bk 3
119 [HHHEE] #onst [ B 2.1
120 [HHFEE] foeas | B 3.8
121 [HEE] sy [ BEi 2
122 |HFEE] feas | mEE 2.5
123 [HFEE] #onst [ BN 4
124 |HIFHEE| #ekt | T4 3
125 [HFEE| s | BAAX 1.5
126 |HFEE| #eas | g 4
127 |HHEE] #oeni | A ER o.1
128 |HFHEE| ek | B AE 3
129  [HFAEE] #oens | Btk 3
130 [HFHEE] #oenkt | FRiiss 3
131 |HFEE| ekt | JJ % 4
132 [HFEE] s | GiE)l 2
133 |HIFHEE| #gokt | B4R L
134 |HIFHEE| sk | kX s 4.5
135 [HHFEE] fes | R 3
136 | HFTHE | fbkt T4 2.2
137 |HHEE] #er | gisE 4
138 [HFEE] okt [ EEE 9
139 [HFEE] g [ 28 NI 2.8
140 [HFEE] skt | st 2
141 |HFEE| gkt | BREE 3.5
142 [HFEE] #onr | Rl 1
143 [HFEE] #ont [ =K 1.5
144 [HFEE| #ea | PR e 3.5
145 [HAEE| #enst | 3kl 4
146 [HIEE|] #ms | BRfEAE 2
147 [HFEE] #onst [ EROR 1
148 [HHFEE] #es [ 2RA%E 1
149 [HAHEE[ ten | £%=E 3.5
150  [HHEE| e | BEH 2.5
151 |HFEE| gkt | e 3.5
152 [HAHE| sms | RBARIE 1
153 |HIFHEE| gkt | S5k 3.5
154 [HAEE| funkt | R 1
155 [HFEE | ek B 4.1
156 |HFHEE| #ekt | ZES 2.5
157 [HFEE| e | B 3.5
158 [HHEE] g | R 3
159 |HIFHEE| ekt | BEHE 3.5
160  [HFEE] feas | FHEW 2.1
161 |HFEE| ekt | Rk 2.5
162 [HFEE] #onkt [ =g 2
163 [HHHEE] #ed | G L 6
164 [HFEE] #oakt | X zE 2
165 [HFEE] #oakt [ EFF 2
166 [HIEE] N | AEE 4
167  [HFEE] #onk [ xgid 3.5
168 |HTHEE| skt | MpEE 1.6
169 |HIFHEE| sk | KR o
170 [HHFEE] foens | Hr= 3
171 |HFEE| gkt | BXIE 2
172 [HFEE] e | 4N 1.5




173 [HAHEE] tand | BAR 3.5
174 |HIFHEE| ekt | BiEhh 3
175 | HFAHEE| s | % 2
176 [HAENE] gk | mEk 3.5
177 | HFHEE| s | X321 4
178 |HFHEE| st | FRiE 3
179 |[HFEHEE| s | 4= 65
180 |HFHEE| st | EEE 1
181 |HIFHEE| sk | X EE 4
182 |HAEE] skt | BRfEE 2
183 [HAEE| ikt | X/ 4
184  [HIEE] #mN | BES o
185  |HFHEE| ekt | BRI 0.5
186 | HFTHEE| skt | FrE X 2
187  |HFAEE] ek | xlE% 0.5
188 [HFAHEE[ ekl | P oH: 0.5
189 [HH&EE| tuk | AN 3.5
190 [HAEE] ekt | EpE 2
191 [HFEE| gkt | Bt L
192 |HFHEE | seakt | xagfE 4.5
193 [HFEE] #onkt | s 3
194 |[HFEE] ik [ skE2 2
195  |HFHEE| ek | KR 4
196 |HFTHEE | skt | x|seF 2
197 |HFHEE| gkt | T 1% 3
198 |HFHEE| tean | TR 2.5
199 [HFHEE| s | mes 3
200 |HEFERE| geak | B oRE 3.5
201 |HEFEE| s | REE 32.2
202 | FEE| s | S S
203 |HFEE| teaN | TAEE L
204 |HEFTEE] gkt | BE 2
205 |HFAEE| N | A4 3.1
206 |HFEE| #er | {2EAL 3
207 |HFEE] meast | skgite 4
208 |HFEE| fAN | T 0.4
209 |[HFEE| gkt | BrE 3
210 |HFEE| #ek | 52 1.5
211 [HEE] mart | XEh 2
212 [HFHEE] gt | s 2.5
213 |HAHEE| fean | RBINE 2.5
214 [HAHEE] gert | B 3.5
215 |HFAEE| #ens | BHE o
216 |HFEE| s | T S 3.5
217 |HF&EE] s | BER 3
218 |HAEE| #an | BHEE 4.5
219 [HFHEE| #oar | BRI 4
220 |HFEE| feas | BiER 3.5
221 |HFEE| s | HEE Y 2.5
222 |HFEE| tan | BiEE 2
223 | HFEE| teas | RiEE 2.5
224 |HFEE] pean | R 2
225 |HFEE| #eas | B 1.5
226 |HIEE| gkt | S 4
227 | HREE| mes | s 9.5
228 |HFEE| tibas | SEiEE 2
229  |HFrEmE| skt [ S 1.5
230 [HAEE] sk | FEE 1.3




231 [HAHEE] tAN | RiEm 14
232 |HFEE| #oas | BRAE 3.5
233 |HFEE| #ens | xIEH 2.5
234 |HIEE] gest | BN 2.5
235 |[HAHEE] #ert | BiNE 2.2
236 |HEE| #ear | S E 1.2
237 |[HFIEE| gkt | H 2Rk 3
238 |HFEE| tbas | BERG L
239 |[HFHEE| g | BRw 3
240 [HFEE| #ear | FGE 2
241  [HFEE] sme | XER 2.6
242 M EE] #oas | 2N 3
243 |HFEE| #ens | H2EW 4
244 |HFFEE] gkt | 224 3.5
245  |HFEE| weis | xEA 3
246 | HEFHEE | peak | ZEgEE 2
247 |HFHEE| s | s 3
248 |HFHEE| tieaN | e 2
249 [HFHEE| g | xEZ i 2
250  [HEFFEE| ekt | xEm 2
251  |HFERE| #bas | F R 3.4
Py I EEEE 4.5
253  |HAEE| sk | ARUR 2
254 |HIEE| mest | BEE 4
255 |HFAEE| g | R 2
256 |HAEE| s | HiEE 3
257 |HFEE] #uas | EEOE 4
258 |HFEE| teas | XA 1.6
259  |[HHEE| mest | A 3
260 |HFAEE| tn | FH& S
261 |HFEE| tean | mie 2.7
262 |HFEE| g | 25T 9.5
263 |HFAEE| teas | BN 2
264 |HFEE] #st FELEy !
265 |HFEE| geast | sk e 2.5
266 [HFHEE] gk | SRINEK 3
267 |HFHERE| g | e 5.5
268 |HFAEE| tkan | BAE 2
269 |[HFEE| #r | X3t 3.4
270 [HFEE] geast | sk XUE 3.4
271 |HEEE| e [ R EE L
272 |HFEE] gkt | 4R o
273 [AAEE] #une | xiEE 4
274 | HFEE] mar | R o
275 [HA#E] gk | XI5 F L
276 | M ENE| s | BEEAh 2
277 |HREE| ek | 3
278 [HFHEE| me | xpgF 3
279 |HFEE| wens | X 1.5
280  [HEFERE| st | BXRKEE 1
281 | EE| we | akeEm 1
282 |HFHEE| #ar | AR 2
283  |HFERE| sk | sk 4ok 2
284 |HFHERE| s | e 4
285 |HFHEE| s | ER 4
286 |HFEE| tban | R 3.5
287  |HFEE] #oas | FREMK 1.5
288  |HFFEE| #enst | 2D 6




289  |HPHEE| BN | R 1.1
290 | HAHEnE| pouk | 248 10
291 | HpHEnE| mows | BaR 2.5
292 | HAHEnE| mes [ BEE 5.4
293 | 4EAhErE | pobs [ PR 2.7
294 | HpHEnE] sows | meZsk 3.1
295 |t pHEnE| mowk [ R4 7.9
206 |HPHENE| sl | B4R 14
297 |HAHEnE| mes [ B 4.9
208 |[HtPHEns| monk [ Basr 1.8
299 | HAEnE| pouk | BSEE 2

300 |[HAHEE( ok b EIG 1.5
301 | HtAHEnE| mowk | RS 4.3
302 |HAHEnE| mes | XU 1

303 [ 4EFhErE| pobs [ EHinE 2.2
304 | HAHEE[ Ok S 2.8
305 [ 4EFHErE| pobs [ HER 1.6
306 |HPHENE| Bl | RZEeE 2.9
307 | HAHEnE| mes [ BB 2.4
308 | 4EFTEmE | mobkt | SRk 2.1
309 | HtAHEnE| ek [ R 0.7
310  [4EFherE| mobst [ Bz 1.9
311 |HPHEE | pes [ BAUE 4.1
312 | HfHEE | mes [ mhEk 0.7
313 |4E7reEmE | moest | Z4 7.8
314 |HPHEIE| BN [ EHIE 5.3
315 | HAHEnE | sowk | AR 4

316 | HAHEnE| mowk | BiASE 3.2
317 | HAHEnE| mes [ Bk 4

318 | HAHEnE| vk [ BITE 1.3
319  |HAHEnE| mows | B 5.2
320 | 4tAhErE| pobs [ BEE 7.1
321 |HPHEE| moes | JERE 3.2
322  |HtpHEnE| poes [ B 1

323 | HtAHEnE| sowk [ ARED 2.4
324 |HPHEE| e [ BITE 7.1
325 | HtAhErE| pobs [ £ EEH 2.5
326 |HPHEE| sl | BAE 4.6
327 | HirEna | poest | MRS 6.5
328  |HAHENE| mowk [ BH 2.5
329  |HAHENE| ek | XIEH 0.8
330 | 4EFrEmE | mobst | SEA R 5.5
331 |HPHEE| e | EiEA 2.4
332 | HHENE| pouk [ BURER 2

333 | 4EFHEE| pobs [ HAR 3

334 |4t PHEna| pobs | TEEE 5.5
335 | AHEnE| mowk | Rogie 1.7
336 |HPHEIE | B [ Rytdg 2.7
337 |HAHEE| mes | BIE 3

338 | HtAHEnNE| mowk | AEa 4

339 |HAHENE| ek | BEH 3.4
340 | AHEnE| mowk [ 2 2.7
341 |HPHEIE| BN | REEAE 2

342 | HtAHEE | poes | BEEE 2.5
343 | HAHEnE| movk | BEie 2.5
344 | HAHENE | sows | fAAGE 6

345 | HAHENE| sowk [ R4l 0.5
346 | HAHENE] mowk | R 2




347 |HPHEE | Bl [ KR 4
348 | AHEnE| mowk [ B4 2.5
349 | HAHEnE| mowk [ 24 2.8
350 |HAHEnNE| mows | MRS 0.5
351 | HAHEnNE| sowk | AKiE 1
352 |HPHEE| el [ BROC 5.5
353 | HAHEnE| vk | BURE 2.6
354 | AHEE| mows [ MRz 3
355 | HAHENE| pouk | FiRuc 1.5
356 | HFHENE | BHH b PR A 2
357  |HPHEE| el [ B 3.9
358 | AHEnE| vk | Rins 3.2
359 | HAHEE| sowk [ ARAT X 4.5
360 | HAHENE| mouk [ RS 1.5
361 | HFHEE| Ok bR 2.8
362 | HAHENE | sowk | it 2.8
363 | HAHEnE| mowk [ B4 3.8
364 | HAHENE| mows | BTE 10
365 | HAHENE| souk | Rk 2.8
366 | HAHENE| sowk | SEW 3
367 | HAHEnNE| mows | B)E 3.3
368 | HAHENE| mowk | R4 3.8
369 |HfHENE| moes [ REI 6
370 | HAHEnE| mows [ BN 3.3
371 |HMHEnE| moss | EFEE 1.5
372 |HAHENE| ek | gkEER 0.7
373 | HAHEnE| mowk | B 6.5
374 |HPHEE| B | BEH 1.9
375 [HEMEnE | onk [ BERE 1.5
376 | HtAHEnE| mowk | pMESE 2
377 |HPHEE | el | BREE 1
378 | HAHEnE| vk [ BSEX 2.3
379 |HPHENE| el | B TR 2.6
380 |HAHEnNE| mows | BER 3.2
381 | HtAHENE| vk [ BFEIR 3
382 |4t MHEnE| movk [ RBaEtE 2.6
383 | HAHEnE| mowk | 2 F4 2
384 [ HEPHENE| LK NI 4.4
385 | HAHEE| mes [ B 1
386 |HHENE| otk | MEHE 1.5
387 | HAEIE| pbek [ B R 1.5
388 | HfHENE| BeH | BEA 1.9
389 |HPHEIE| BN | ZEEE 6
390  |HAENE| ok | EEER 26
391 |HPHEnNE| mes [ ikEE 3
392 | HAHEE| moes [ Ll 2.3
393 | HtAHEnE| mowk [ B4 24
394 | HPHEE| el [ BAE N 2
395 |4t fHEE| mes | skE#E 4
396 | HAHENE| mowk | AAE 1.8
397  |HfHEE| mes [ skEE 2
398 [#tMeEna| vk [ AR 3.5
399  |HFAENE|[ mOk | ] 3
400  [HM#ERE] poul | gk 2.5
401 | MFHEnE | moes | sk A 4
402 | MFHEnE| ks | &S 4
403 | FHEnE| mosk | FiRST 1
404 | 8AHEnE| moes | XBEM 1.5




405 [HFHEE] ekt | skEH 3
406 [HFFEE| pbR | REE 55
407 | HEFEE| e | gk = 6
408 [HFHEE] ek | B LA 3
409 |HFFEE| moeH | KZE 3.3
410 |HFHEE] moest | 9 3
411 |HEE| ek | Bl 4
412 |HEE| moek | VIHk 2.1
413 |HAEE| moek | %N 1.7
414 [HFHEE] ekt | sRARNI 1.9
415 | HFEE| e | skEiE 1.9
416 |HAEE| moek | R¥E 2.1
417 [HFHEE] ekt | sk & 2
418 |HFEE| woek [ akdd 2
419  [HHAEnE | soest | gkEesr 1
420 | HFEE| et | skER 1.5
421 | HFEE] skt e 0.8
422 |HFHEE] skt | ke 2
423 [HFHEE] skt | dokaE 1.3
424 [HFHEE] ekt | R 2
425  |HEE] ek | F R 1
426 |HEE| Bk | BXEHE 1
427 |HAEE| moek | kEE 2.5
428 |HFHEE] sk | BRaEs 0.7
429  |HPEnE | mook | BEES 1.5
430 [HEFHEnNE | Bkt e 1.5
431 [HAEnE| moek | FEE 5
432 [HEAreEnE | soes |V E 1.5
433 | HAHENE| mel | FR A 1
434 |HFEE] s | kA 1.5
435 |HFHEE| mren | mE L 1.5
436 | HFEE] moes | ok 4.2
437 [HEEE| ekt | S e 7
438 | HFHEE] ek | g 8
439 |HFEE] s | IRE 1.1
440 |HEFEE] moes | flgst 1.5
441 |HIEE| ekt | =R 5.8
442 [HFHEE] ek | BTE 3
443 |HEE| ek | X|EL 1.2
444 [ HEAHEE | BOus | T 2
445  |HFEE| pan | BER 0.8
446 |HIEE| pUmkt | B4 1.2
447 | HFEE] pomst gk 1.9
448 [HFERE| s | BHER L
449 [HAEE] s | BH% 2
450 | HFEE| pums | ekl L
451  |HAEE| pUntt | xS 0.6
452 | rEE| suas | BEXE 1
453 |HIEE| skt | FLEEE 0.5
454 THFEE] ek | ool 11
455  [HrEnE| s | Bk 1.6
456 |HIEE| pomkt | FXE 0.3
457 |HAEE| gk | BRE 1
458  |HIEE| pomkt | Bk 0.5
459  |HEE| pumkt | BAAE 2.7
460 |HFEE] pomst A 0.4
461  |HAEE| pomikt | BAE 1.6
462 [HFrEnE| s | EEERK 1.5




463  |HAETIE | GUliM | PR R 1.5
464 [HEFHENE | gk | ML 1.2
465 |HAETIE| N | R 15
466 [HAHENE| pUdikt | ETE(R 2
467 | HFPEnE| ok | e 2.4
468 | MArEnE| fsis | pEEl 1.8
469 | HAHENE | fHEs | CEiRE 0.8
470 [HAEnE| gds | TR 0.8
471 [HAEnE | gods | B 1
472 [HAHEnE | godis | EEEE 1.6
473 [HAEnE | g | ZER 0.5
474 [HAENE | gdEs | ExRE 0.8
475 | HAHEnNE | fHEs | CEIL 1.6
476 [HFHENE | gk BEI 2
A77 | M AHEnE | fEs | L 0.8
478 | HfHEnE| fUEs | BER 1.5
479 | FHENE | fUEA | BEMER 1.5
480 |HAENE| pHmAr | 97 1.7
481 | MFHENE| tUEs | BTE 24
482 | FHEnE | fhEs | B 1.5
483 [4tfenE| gds | B 0.8
484 | HrremE | fmis | BN 2.8
485 | M PHETE | tHEs | BRE 1.6
486 [HMH#ENE| goss | AP A 1.7
487 | HremE | thEs | Borlg 1.5
488 | MFHEnE| fhEs | Bonte 1.5
489 | FHEnE| tUEs | BB 1.6
490 | HPHENE| tHEk | EIEIR 0.5
491  [HMP#EnE | godist | CEIE 1.3
492 | HPHEE| R | EIE 3.3
493 | HAHEnE| fEs | EILE 5
494  [HFEnE| gdEs | Eook 1.5
495 | FHEnE | fHEA | B 42
496 [HAHEnE| s | M2 3.4
497 [HHeEnE| godisn | BkER 3
498 | M FHEnE | S o S=RiD| 2
499 | HrEE | e X Ef 27 1.7
500 [4tAHEE | gods | A 1.7
501 | B pHEE| tmms | MR 2
502 | MpHEE| thEs | BXEdE 1.2
503 [HEPHEIE [ dHik | B M 1.5
504  [HEMHEE( fEk | B2 6
505 [HtAHEE| gods | = 1
506 | AtpHEE | trms | srEar 0.5
507 [HEMHEE | dHaik | EAEE 3
508 | AtpHEE| thms | EaR 3.4
509  [HMEE| BE HEAE 1.3
510 |HAENE]| M | fHREE 1.3
511 |HANENE| Wi | (R 2.7
512 |MAENE] #E | AR 0.8
513 | HfHEE| BAE Ik 5% 1.7
514 [HfHEE| i RS 1.4
515 | HHHEE| BAE vl 0.8
516  |HAHEE|] mE oo ol 1.4
517  |HMA#EE| BAE % 2.5
518 | HHfHEE| B At 1.8
519  |HpHEE| mE DE=95% 2
520 | HtHHEE| B IDEIR 0.6




521 | HHAHEE| B AP 2
522 | HMpHEE|] mE XU =L Aff 1.1
523 [HHHEE[ Bk 25 A 1
524  [HMEE| BE FHRA 0.6
525 | HMHEE| BAE iz 7
526 | HtAHEE| B gk Ha 2T 2
527  |HMPEE| BE X% T 1.5
528 | HtAHEE| B 2R 7 2
529 | HMHEE| BAE HiER 1.5
530  |HHEE| B IDEin 4.7
531 | HHAHEE| BAE DT 3
532 [HMEE| B INEXR 6.5
533 | HAHEE| BAE RS 5.5
534  [HfHEE| At 3k 1.4
535  [HfHEE| ik A% B 1
536 [#fHEE|] B At k2 4
537  |HMHEE| BE X3 =~ 0.6
538 | HAHEE| BAE wmEZ 0.8
539  [HMEE| BE B S st 0.7
540 [HfHEE| Bk k4= 2
541 | HHHEIE| B BB 5E 0 0.3
542  |HMHEE| BE b8 < ] 0.5
543 | HAHEE| BAE +HE 2
544  [HFHEHE|] wE K4l 5
545 | HMHEE| BE Ryt Bl 1
546 | HAHEIE| B I IJJ 3
547 | HMHEE| BE IR 0.5
548 | HAHEIE| B 7 Ll 0.5
549  |HMHPEE| B Ml 11
550 (4 fHEE| Mk % &tk 1
551 | HtHAHEE| B 5= 1
552  [HMHEE| B pud| e 0.6
553 [HfHEE[ Bk VIR 0.5
554 |HMHEE| BE M 1
555 |HHEE| wE | i 0.4
556 | HtfHEE| B T NE4E 1
557  |HMHEE| BAE FHE% 3
558 | HtHHEE| B iy 1.5
559  [HMHEE| BE ¥R 1
560 [HMEE| B T 1.5
561 | HAHEE| B I K 0.7
562  |HHEE| BAE 17 1 2
563 [HfHEE|[ B % LR 1
564  |HFHEE|] mE Py ¥ 1
565 | HAEE| BAE 8% T = 1
566 | HAHEIE| B M eI 6
567  [HfHEE| it R 0.5
568 | MtFHEE| T TR 35
569 [HFHEE| T TH® 2
570 | HtHHEnE| T T Rt 0.5
571 | MpHEE| T YEFE IR 1.5
572 [HMEE| T TR 4
573 | HtAHEnE| T THAE 55
574 | MpHEE|] T I 38
575 [#fHEE| T T 1.5
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1592 [ 4tPHens | mamst | 7% 2.5
1593 | fHEnE | sk | hEE 1
1594  [4tPHenE | srms | 4% 2.5
1595 | #pHEnE | soawst | FRJkF 3.6
1596 | fHEnE | soamst | JrAa 4 6
16597 | #pHEnE | soamst | JRalke 26
1598 | fHEnE | suawst | JrE S 2.5
1599 | fHEnE | suamst | JRATEE 1.7
1600 |4 pHEE | soawst | JhE%E 3
1601 | AHEnE | sEist | 7Rk 3.5
1602 |4 pHEnE | soamst | fLALC 0.5
1603 |4 pHEnE | somast | gk 2
1604 | HtAHEnNE | gkt | e 3
1605 |4 pHEE | soawst | 75ER 1.5
1606 | fHEnE | suams | 73878 2
1607 | #pHEnE | soawst | JEAE R 1
1608 | AHENE | ikt | I 0% 2.5
1609 | AHEnE | suEdast | ZSF] 2.5
1610  [#tPHens | s | AR 0.5
1611 [ 4tPHens | pawst | 7k E 0.5
1612 [4EPHEnE | srdEmst | aah Ak 2.5
1613 [4PHEnE | srmst | 7Rk 0.5
1614 | HpHEnE | soamst | megs 3.2
1615 | HpHEnE | soawst | Jr ek 1
1616 | AHEnE | smist | 7rakdE 5
1617 [4PHEng | srdms | HREE 2.5
1618 | #AHEnE | soawst | JrfT# 1.5
1619 | fHEnE | suamst | 7R 1
1620 [ 4tPHens | asst | 2 B 2
1621 | fHEnE | soaas | T EA 1.6
1622 [ 4tPHens | mamst | jRa ) 1




1623 [HIFEE] sans | FEHE 1.8
1624 | 4E7rEnE | soavmkt | Fakss 1.4
1625 |4 pHEnE | soaast | JRkng 0.8
1626 |4t PHeEns | st | T aehl 1
1627 | HPHEIE | skt | FIiEX 1.5
1628 |4t PHeEns | st | = 1.8
1629 | AHEnE | suEist | 2 K4S 1
1630 |4 pHEE | soawst | TRk 1.5
1631 |4 pHEnE | soamst | JRES 2
1632 | M AHENE | skt | 254 1.5
1633 [4#FHEnE| 44 XIHCAT 2
1634 | HfHEE| &% X feE 1.5
1635 [HFHaEE] &b A EE 24
1636 |HfHEE| 44 7% 5 1
1637 | HfHEE| &% X Ay 4= 1
1638 |HfHEE| 4% FE A 3.5
1639 |HfHEE| &% XIHE 24
1640 | $tPHEE | &b X1 7 HE 3.7
1641 |HfHEE] &% X 2=FK 1.5
1642 | HfHEE] &% FEH 1
1643 |HfHEE]  ah XIS 2.8
1644 |HAHEE| &8 | XEA 3
1645  [4#FHEnE| &4 X E K 4.6
1646 | HfHEE] 4% HEL AR AT 0.5
1647 [HFHERE] &b 2R 77 1.5
1648 | HfHEE| &% LT 1
1649 |HfHEE| &% gk g B 2
1650 |HfHEE| a4 ik K= 2
1651 [HFHEnE] &b %R 1 3% 3.2
1652 |HfHEE| &% B 4
1653 [#FHEnE| 44 R 5.5
1654 |HFAEE| &8 | Z5HiKk 1
1655 [#FHEnE| g4 EHEL 4
1656 | HfHEE| 44 gk 2 [+ 1.5
1657 |HfHEE| &% TRk AR I 5.7
1658 | HfHEnE| 4% LEZ 1.5
1659 |HfHEE| &% 2R 3
1660 |HfHEE| 44 L1 1.5
1661 |HfHEE] 4% il ST A 2
1662 | HfHEE| 44 7K BT 4 1
1663 | HfHEE] 4% AR 1.5
1664 [HFHERE] &b Tk R A 2
1665 [HFHaERE] &bk R 2
1666 |HfHEE| 44 T 0.6
1667 [HFHERE] &b ZEFEAR 23
1668 | HfHEE| 4% ik T 2.6
1669 [HFHeEnE] &b BhefE 2.7
1670 |HfHEE| &% BloRT 5 0.7
1671 |HfHEE] &% B oz I 1
1672 | HfHEE] &% Bh oz 2.1
1673 | HfHEE] &% H EH 4.7
1674 | HfHEE] &5 RS 5.4
1675 |HfHEE| &4 B R 1.5
1676 [HFHeEnE] 44 A 1.4
1677 [HFHEnE] &b BhE 2R 1.5
1678 [4#FHEnE| 44 el 2
1679 [4FHEnE| &4 Pk & 0.82
1680 | HfHEE]| &4 R4 1




1681 |HfHEE| 4% L 0.8
1682 |HfHEE| &4 KEE 0.5
1683 |HfHEE| &4 Bkl 2

1684 |HfHEE| 4% gk T AfE 2

1685 |HfHEnE| &% iR 0.5
1686 | HfHEnE| 4% 4o 0.5
1687 | HfHE| &% EEN 0.8
1688  [4tfHEnE| &4 X% 1 2

1689 [HFHaEnE| 44 o 2

1690 [#HEn&E| &4 HHHH 77 4.2
1691  [#HHEn&E| &A akAy = 2

1692 [#HHHEnE| A BT 2.5
1693 [#HHEnE| A i R4 1.5
1694 |HAHEnE| A B I 1.6
1695 |HfHEnE| A B 2

1696 [HHHEE] &4 T 2

1697 |HAHEngE| 2hE | ZHE 2.5
1698 |HAHEnE| iy | AR 3.5
1699 |HAHEnE| zhE | AT 2.8
1700 |HAHEnE| i | Bt 8

1701 |HpHEng| i | A28 6.3
1702 | HFEE|] z=hs | A5 2

1703 |HfHEng| zrE | 2HKE 3.5
1704 [HHHEngE| =8 | H2AH 1.3
1705 |HfHEnE| =rE | BEER 5.5
1706 |HAHEnE| zhE | HEE 4

YARE R SEAIEESSEE & 3.3
1708 |HfHEnE| 2 ks 2 4

1709 |HMHEnE| z=rE | A%5 2.7
1710 |HAHEngE| zhE | A%A 6.3
1711 |HpHEng| =i | BELE 4.6
1712 |HfHHnE| z2rE | BE4 4.5
1713 |HfHEnE| zrE | b 1.8
1714 |HMAHE| sy | BEIR 3

1715 |HAHEnE| s | EEL 5.4
1716 [#PHens| #=LAE £14%4 4

1717 |HfHEnE| z2rE | 254 1.5
1718 |HfHEng| =iy | HiEE 1.3
1719 |HMHEnE| z2hE [ Z2ER 1.5
1720 |HfHEnE| z=aE | EIEAL 2.8
1721 [#HHens| =LA TN 2.5
1722 |HfHng| zrE | AERE 3.7
1723 |HpHEnE| z=rE | EASE 6.9
1724 |HfHEng| zhE | Z2R1E 1.3
1725 |HfHEnE| ks 25 [H] 1.5
1726 | HAHEnE| ZhE | BME 3

1727 |HfHEng| zaE | XEgE 4.8
1728 |HfHEngE| ZhE | ZK%E 4.8
1729 |HpHng| zrE | A% 1.5
1730 |HAHHEnE| z=rE | ILHE 0.5
1731 |HAHEngE| zhE | A%E 5.7
1732 |HfHEng| z=rE | A5H 2.5
1733 |HfHEnE| zhE | 2k 5.9
1734 |HMHEnE| s | EEAL 3

1735 |HAHEnE| zhE | HEE 2.5
1736 |HAHEnE| =xE | HEEHE 3

1737 |HfHEnE| z=rE | BE 3.8
1738 | HfHEngE| zrE | Z2H5E 2.6




1739 |HAHEngE| ZhE | AR 3.8
1740 |HfHEng| zxE | A% 1
1741 |HfHEnE| 2rE | FHa 1.5
1742 |HpHEnE| 28 | BES 1.9
1743 |HfHEng| zrE | FR4E 0.8
1744 |HPHEngE| 28 | A%%E 6
1745 |HAHEnE| x| AL 2.5
1746 | HfHEnE| 2Ry | PP 3.8
1747 |HfHEnE| zaE | EXGE 2
1748 | HfHEnE| z=aE | EROE 4
1749 |HAHEnE| Z2hE | BmE) 4
1750 |HAHHEnE| zrE | AlS 1.8
1751 |HfHEnE| zrE | A 1.7
1752 |HpHEng| zaE | EEI 2
1753 |HfHEng| ks | HHEHRE 7
1754 |HfHEng| zrE | e 2
1755 | HAHEngE| L8 | BEAE 3
1756 |HAHEngE| ZzhE | AL 3
1757 |HpHEng| zhE | HEER 2
1758 | HAHEng| zrE | BEd 2.3
1759 |HAHEnE| zhE | A% 1.5
1760 |HfHEng| zkE | gt 2 1.7
1761 |HfHEnE| iy | k%2 3
1762  |HHHEng| s | gokst 2.5
1763 |HAHEng| s | gt 3
1764 |HfHEnE| z2rE | 55 1.5
1765 |HfHEng| =iy | gt 7
1766  |HAHEngE| i | HiTE 2.2
1767 |HAENE| k8 | MEE 3
1768 |HfHEng| zhE | 2FH 5.6
1769 |HAHEngE| zhE | A% 5 3.5
1770 |HAHEng| zhE | A% 4.5
1771 |HpHEnE| x| HlE 4
1772 |HfHEngE| a8 | Z2h%E 2.8
1773 | HAHEnE| 2 | HiEK 3
1774 |HAHEngE| ZxE | HBE 5.2
1775 |HfHEng| z=aE | B 0.7
1776 |HfHEngE| zhE | JLOE 1.5
1777 |HpHEnE| zrE | EEk 2.8
1778 | HfHEngE| zxE | 5P 2.7
1779 |HAHEngE| 2w | SR 1.8
1780 |HfHnE| ke | R 2.5
1781 |HAHEnE| ks | HHEHE 1.4
1782 |HMHEngE| z=rE | THRE 2.5
1783 | M AHEng| zhE | HE%E 4
1784 |HfHEE| 2 LE HHE 2
1785 |HAHEng| ZhE | HHEE 2
1786 | HAHEngE| ZkE | HEP 3
1787 |HfHEng| z=rE | AR 3
1788 | HfHng| Ly 198 1.5
1789 |HfHEnE| z=kE | A3 3.2
1790 |HMHEnE| z=rE | A%K 1.5
1791 |HpHEnE| z=rE | A% 2.1
1792 |HMHEnE| zrE | EME 4
1793 |HfHEnE| z=rE | A%5 5
1794 |HAHEnE| 2w | BxRE 3.3
1795 |HfHEnE| z=rE | HRCE 7.5
1796  |HAHEngE| x| HEK 3.4




1797 |HpHEng| ZxE | 5y 2

1798 |HfHHng| z=xE | HESE 1.3
1799 |HAHEnE| z=rE | AF 3.5
1800 | AHEnE| ZAE | AR 2.5
1801 |HfHEnE| Ay | ExRE 1.4
1802 |HAHEnE| i | HER 2

1803 |HfHEnE| ZAE | EEK 4

1804 | HAHEnE| Zokw | pigtil 2.5
1805 |HfHEnE| =AE | EE 2.3
1806 | AfHEnE| ZhE | A2 1.5
1807 |HAHEnE| ZhE | BEE 1

1808 | fHEng| ZAE | A= 1.4
1809 |HAHENE| ZRE | BEFH 2.2
1810 | AHEnE| zhE | HE® 2.7
1811 |HAHEnE| zhw | HEE 1

1812 |HfHEng| zhE | BER2 2

1813 |HfHnE| z=kE | M4 0.8
1814 |HAHEnE| =iy | BXRE 2

1815 |HAHEnE| A | ZEAR 1.5
1816 | HAHEnNE| ZAwE | X|HE 1

1817 |HfHEng| ZhE | BEZ 2.8
1818 | fHEnE| =LAy | A 2

1819 |HAHENE| ZhE | BEK 2

1820 |HMEnE| 2LE | Z2EF/ 3

1821 |HfHEnE| x=xE | £E5% 3.2
1822 |HfHEnE| zkE | xR 1.2
1823 | fHEnE| =kE | 2k 3

1824 |HfHEngE| ZhE | A= 2

1825 [4tfierE| sk gk & 0.8
1826 |HrHEE | ks g o 0.7
1827 |HrHEE| ks TR VLTI 1.1
1828 |HrHEE | ke gyt A 1.4
1829 |HiHEE| k& gyt 4 1.7
1830 [4tfierE| sk 7K 55 G 33
1831 |HiHEE| ks FZHE 1.3
1832 | MFfHEnE| sk 7K 3t A 0.5
1833 |HfHEE| ks e 2

1834 |HrHEE| k& gl [l 0.5
1835  [4tfierE| sk gk 51 3.2
1836 |HrHEE | ke FRE TR 0.8
1837 | M FfHEnE| k& K 2

1838 |HrHEE | ks gl kI W 0.5
1839 |MfHEnE| sk gk i 1.5
1840 |HrHEE| ke KT 4 1.6
1841 |HAHEE| ks gk 422 I 0.7
1842 | MfHEnE| k& gk gt 0.8
1843 |4t sk 7k & H 1.8
1844 |HrHEE| ke gl o= 0.3
1845 |HiHEE| ke K T K 1.9
1846  |HrHEE | ke ZE PR 3

1847 | MfHEnE| k& gk o 1.2
1848 |HiHEE | ks ol Hr 3.5
1849 |MfHEnE| sk A 0.5
1850 |HrHEE| ks A& S 1.3
1851 |HrHEE| ks ik 2 0.4
1852 | M fHEnE| sk K BT DL 2.5
1853 |HrHEE| ks B ZE 1.8
1854 | MFHEnE| sk ik R 1




1855 |MfHEnE| sk TiEH 0.6
1856 |HrHEE| ks = EAl 1.6
1857 | MfHEnE| sk IR PR 2
1858 | HfHeEnE| sk %R IR 1.5
1859 [4tfierE| sk kPR 1.2
1860 [HFHE| *& Tk 0.8
1861 |HrHEE| ke o [ 72 1.4
1862 |HfHEE| k& SR 0.5
1863 |4 FHEnE| sk gi T 14 1
1864 [4tfierE| sk aKH B 1.6
1865 |MfHEnE| sk Ikt AL 1.5
1866 |HrHEE [ ke gl B AT 1.2
1867 |HrHEE| k& {47500 0.5
1868 |4 fHEnE| sk BEEINES 1
1869 |HrHEE| ks EHIA A 2
1870 |HrHEE| ke il i 0.8
1871  [HtMHns| & gk A 1
1872 | MfHEnE| sk ik T AF 14
1873 | HrHEE| ks XML 1
1874 | 4tfienE| sk gk R 0.8
1875 |HrHEE | ks 7k [E F 1.5
1876 | HrHEE| ks TR PR A 2.7
1877 | MFHEnE| sk G IR 1.3
1878 | HrHEE| ke N e 0.8
1879 |HrHEE| ke A1 P 2.2
1880 |MfHEnE| sk R M- 2.2
1881 [4tf | sk k= 2.3
1882 |MfHEnE| sk kA 2
1883 |HiHEE| k& Gz 2
1884 |HrHEE| ks T4 0.5
1885 [ F&EE| Lt | v EE 2.5
1886 | 4t e | fuitlkt | FLEEE 3
1887 [ 4tSHerE | sLiekt | R 2.5
1888 |4t s | Ltk | {14 3
1889 | HtFHENE | skt | Bk 3
1890 [H &S| s | HEE 0.5
1891 | 4tvemE | fuaelEs | FLLE 1
1892 [ HESHeE | sLibhkt | A5 1.5
1893 | 4tFherE | fLielst [ H A2 6.8
1894 | 4t7veriE | fuabls | FLEEH 2.5
1895 M H&EE]| s [ kL 2
1896 |4t s | fLiblkt [ L LS 2
1897 [ 4tSheEmE | stk | AL % 1
1898 | 4EFherE | fLitlst | FLEENE 1
1899 | 4tFberE | fuitls | ZEF 2
1900 [#ESeEmE | sueis | [ EAK 1.5
1901 | 4EFvers | fuielst | Faek S
1902 |3t e | sl | FLREAL 4
1903 | 4t7venE | fuelEs | FLLE 2
1904 | 4EFvers | fuiels | #nar o 1.5
1905 |3 &S| sLwrs | FLAIN0 36
1906 | HtAHEnE | slkiEst | FEAE 4
1907 |4t enE | sl | sk E A S
1908 |4t s | fLiblst | XEutEE 3
1909 | 4EFherE | fuels | F R 15
1910 [HES e | suemst | 3k E 1.5
1911 | 4E7vemE | fueln | FLE e 1
1912 [HESharE | ekt [ 2R8I 1.5




1913 [ 4t | et | FLALBE 1
1914 | 4EFvers | ek | s Ed 4
1915 [ FEE]| ek | s 2
1916 | 4EFver | itk | BE 2
1917 |40 e | fuable | 2 2 4.5
1918 M & | sLwrt | skBUE 1.5
1919 | 4E7vers | fuablkt | X i 1
1920 [HEfheErE | sk | T 4& 26
1921 | 4E7venE | fueEs | Tk T 0.5
1922 | 4EF e | st | shiEsE 1
1923 [ 4ESreEmE | suems | FLLE S
1924 | HEFHENE | sLabEb | FLAEE 2.9
1025 [HFEE ]| skt | FLRHE 2
1926 | HAENE | flgekdtt | HAR(E 1.5
1927 |4 EnE | sUelEs | ke 3.5
1928 [ F&EE]| s | RILE 2
1929 | 4EAvemE | fuatls | Rl 2.9
1930 [ 4ESHerE | suemkt | Eoif 1.5
1931 | 4EFver | fuiels | mRCEE 1
1932 | 4tFherE | el | 3 K 0.5
1933 | M AHEnE | uerst | R EIT 1
1934 |4 EnE | sUeEh | SRR 1.5
1935 | 4tFHEnE | sLehst | FLEEC 22
1936 | 4EAvenE | fubls | FLLE 4
1937 | 4t7venE | uelEs | FLLA 3
1938 [ 4ESheErE | suibis | FlgERs 1
1939 | 4EFberE | fuiel | pEE s 2
1940 |3 & | slwrads | ZEeA 2
1941 | 4EFbEns | fuiels | 2Rk 1
1942 | 4t7venE | fuiEs | TEB 1
1943 [4tPHens | fLlst | k2 1.2
1944 | 4EF e | fuaelb | R BHALE 2
1945 [ eS| sLwr | Bk e 1.5
1946 | 4EFvErE | el | B E A 1
1947 |8 | s | mE 1.5
1948 |3 aEE | sLwrss | Wi 3.6
1949 | 4t7venE | fuels | LA S
1950 [4tfbeEmE| s | AL 4
1951 |3 e | sLis | Spogie 1.5
1952 | 4EFherE | fuiels | g 2
1953 |8t aEE | slwrss | FLEREE 1.5
1954 |3 enE | sl | A 2.9
1955 | & | sLishal | FLEERY 2
1956 | 4EFHENE | fLbA | FLEEST 3
1957 |HEFEE | swEs | FLeEdE 1.5
1958 | HFHEE | it | =5 4
1959 |HFEE | ks | FLE R 2
1960 | HFHEE | LR | ke 3
1961 |HFEE | ks | FLALE 1
1962 |HFEE| ks | FiF 2.9
1963 | HFHEE | SUEREN | LA 3.8
1964 |HFEE| skt | kT 3
1965 | HEFHEE | SLERN | EBHIR 3
1966 | HFTEE | skt | ok 5
1967 |HAHEE | sLwkk | % 3.0
1968 | HEFHEE | skl | T /8.5
1969 [ FHEE | ks | FLILE 1.5
1970 | HFHEE | susiakt | 23 1.5




1971 [HFHEE] suerast | L2050 1
1972 [HFEE | suemk | 5% J
1973 |HFHEE| ikt | T LM 1.5
1974 | 4E5venE | fueEs | R 1
1975 | 4EF e | fubls | JE S M 1.7
1976 |4 EnE | subis | 2k 1.5
1977 | 4E7venE | fuaels | FLeEE 3
1978 |HA&HEE| swmn | THE 3.5
1979 | 4EFHEnE | sUelEs | FLALE 1.5
1980 |4t e | sl | fleE = 4.5
1981 [#EFaEE | sl | FUgoRt 1.5
1982 | 4EAherE | fuiekst [ FL L% 1
1983 [HEFEE ]| sLmhs | FLEEE 3
1984 | 4L s | fuiblEss | /4N 2
1985 | 4EFHEnE | sUelas | ok 5 ag 3.9
1986 [ EE]| sLhs | FLeEs 1.5
1987 | 4EFHENE | sLblb | Ak 1.5
1988 [ 4tSherE | sLiehkt | & K 1.5
1989 | 4EFherE | fLiblst | g E e 3.5
1990 | 4EF s | fLiblbt | RAEHE 1.5
1991 |3 &S| sLwrs | dHE s 3
1992 |4 enE | sl | FLEE 6
1993 [HH&EE]| sLwhs | FLALE 2.5
1994 | 4EFverE | itk | s 2
1995 | 4tAverE | futs | F A E 1.5
1996 |4t eEmE | sueis | FLEEE 4
1997 | 4tFvers | fuiels | FLAE 2
1998 |4t e | sLwin | FLEEE 15
1999 |4 FenE | sl | FLAL Y 2.5
2000 | 4t7remE | suclEe | FLLE 3
2001 [HEPHETE] slebatt | | ML !
2002 | #AreE | fuEs | FLLIE 3
2003 |4t emE | sunst | ek 4
2004 | 4#iremE| fuEs | A4 E 2
2005 | 4AremE | s | EiEiE 3
2006 [ eEE | slwh | skl 3
2007 |47 emE | slems | FLALE 4.5
2008 | 4t [ FuaclE s B S
2009 | 4trremE | skl | SRS 2
2010 |4t emeE | suwms | fLeEA 1.5
2011 |HFdEE | siwEs | Fige 1.5
2012 | 4#toremE | fuelEs | L 2
2013 [HFHEE]| ikt | FLER 3.5
2014 | HEoremE | fueEs | AR 2
2015 | 4#torenE | fuEs | kB 6
2016 [HEE| s | FLEE 2
2017 | 4toremE | surlEe | LA 2.5
2018 [HFHEE ]| skt | Z0A7 2
2019 | 4#Ei e | fUeEs | Bk 1
2020 | 4#t7 e | fuelEs | SHE B 2
2021 | HEFHERE | sLehdkt | FLREE 3
2022 |4t emE| s | fURE 1.5
2023 |4t e | sl | Xy 1
2024 | HorenE | fUeEs | AR 3
2025 | #trrenE | fuEs | LR 4
2026 | HAEE| fwEs | TEE 2
2027 |47 emE | sl | FLeE ik 2.5
2028 |47 e | sLran | FLeEde 4




2029 | HFEE| fwEs | Fogte 4
2030 | #t7remE | suelEn | FLEEAE 2.6
2031 |4 emE | slwis | A 3.5
2032 | 4t7remE | fUeEs | ST A S
2033 [ 4tFHenE | sLiels | FLEEN 2
2034 |[HFEE| swin | 2R 3.5
2035 | 4trrenE | sl | R 1
2036 [ 47 e | sLiEs | Bk A% 4
2037 | 4toremE | fukEs | AR S S
2038 | #trrenE | suclEe | A s 2
2039 [HEE] sLwpas | 2k 3
2040 | 4#tiremE | fuklEs | T2E 2
2041 [HFFEE]| s | FLLE 1.5
2042 | HirenE | fueEs | 4R 2
2043 | 4trrenE | sl | EmAE 1
2044 [ aEE ] s | FLEEN 2
2045 | HEFHEE | sUelh) | 2A1E 6.5
2046 |47 e | sLerEs | sk kg 4
2047 | 4EFHEE | sLelEat | FLFLED 2.9
2048 | #rrenE | fUeEs | LR 2
2049 | HAEE | swEs | fUEL 4
2050 | 4tFremE | suelEs | FLLIE 6
2051 | #toremE | fuEs | ke EAR 2
2052 | 4trrenE | surlEe | fLiEE S
2053 [ 47 emE | sl | FLEEN 0.5
2054 | HEE| fwEs | sk B 1
2055 | 4trrenE | sulEe | AR 2
SR e B A EE SR 1.5
2057 | 4iremE| fueEs | TR 1
2058 | 4#trrenE | suclEs | FLEE A 1.5
2059 | HtpremE | simms | ZEET 2
2060 | At AemE | fekdss | 44T 15
2061 [ 47 e | sLrEs | FLREI 1.5
2062 | #t7renE | fUeEs | sk EAE 1
2063 | #trremE | fulEs | iEsE 3.5
2064 [ EE | slmhs | sk E 1.5
2065 | #tsremE | fulEs | AT 2
2066 | HFFEE ]| bkt | FLEE 1.5
2067 | 4trremE | fueEs | fLEE 1
2068 | #tsremE | fLelEs | FLLEK 4.5
2069 [HFaEE | slmrs | FLEES 1
2070 |45 e | fUelEs | ZRE AR 2
2071 |47 e | slenEs | T 4
2072 |45 enE | fUeEs | XS 6
2073 | 4toremE | fuelEs | JEdEA 1
2074 [ 4tFhenE | fLEms | o /
2075 | 4o emE | fuelEs | FLEEE 3
2076 |47 e | slwiEs | FLUUT 1
2077 | #tFHEE | sUelEs | FLALE 1.5
2078 |47 emE | sLierEst | FLEE 1.5
2079 [ FEE]| s | FLLE 1.5
2080 [ 47 emE | sLirs | FLEEE 3
2081 [HFHEE]| sl | koAl 2
2082 | 4#trremE | sublEs | 4 KBl 3
2083 | 4t7 e | fUclEs | spies 2.5
2084 [ FEE]| slmhn | BHEE 4.5
2085 | #tAreE | fLelEs | FL L 1
2086 | HFHEE]| sLwhakt | LU 3




2087 [ EE] slsrs | 2k 2.5
2088 | #tsremE | fuelEs | FLLE 3
2089 [ HFHEE]| sLwhikt | FLEEZE 2.5
2090 [#tf3emeE | sl | fLL T 4
2091 | #tsremE | fUeEs | XIGKE 1
2002 [ FEE]| swin | F A% 1.5
2093 | Hts e | fUlEs | AR 1
2094  [HFHEE]| ekt | 222 1
2095 | 4tiremE | fueEs | BAgEA 2
2096 |4t e | suemEs | FLLE 5
2097 [ FEE]| s | FUES 2.5
2098 [ 47 emE | sLwis | FLLA 3
2099 | 4ts e | FueEs | kB 15
2100 | 4tFHEE | sUels | FLALS 2
2101 | 4tFHEE | sUelaht | Sh XeE 2
2102 | HHAEE| sk | FLLT 3
2103 |47 emE | slwis | FLeEe 1
2104 [HFHEE]| skt | fLUKE 2.5
2105 | 4EFHEE | sLelht | FLEES 9
2106 [ 47 emE | sLwrEs | FLEER 4
2107 | HHEE]| sLwhk | FLEE € 2
2108 |4t 3emE | sLwis | FLLE 38
2109 [ HS e | suemEs }Lﬁéﬂz 1
2110 | 4EFHEE | sUelaht | e 3
2111 [ e | suemst | demft 1.5
2112 [ H&EE] s | FLUE 2.5
2113 | B A s | fuekdss | FLEEST 15
2114 M 8EE | swis | HE 1
2115 | 4tFHEE | sUelst | FLALE 12
2116 | 4EFHEE | sLelb | FLEEED 3
2117 |HAEE| sk | 2928 16
2118 | 4#tFHeE | sLclh) | sk 2
2119 [HtFreEnE | ik | FAEG 1
2120 | 4trremE | sucEs | SRR 1.5
2121 [HFHEE[ XE RS 1.2
2122 | 3fHEnE| wE [ SIRA 0.2
2123 |4 fHEnE| wE KR 1.3
2124 | MfHEnE| wE gk P4 H 1.4
2125 | MfHEnE| wE gk B 1.1
2126 | MfHEnE| wE gk 1 1.1
2127 |HFEE] ik | FEk: 1.8
2128 [HFHEE[  XE 7K 2k It 1
2129 [HFHEE[  XE 7k 0.6
2130 | MfHEnE| wE HEE 1.8
2131 [HFHEE[ XE TAW 1.1
2132 | 4fHEnE| wE 75 g 0.9
2133 | MfHEnE| wE IRk 0.7
2134 [HHEE] wE | F54 1.5
2135 [HFFEE] wiE [ ) fk 0.8
2136 [HFHEE[  XE ToEte 0.4
2137 | 3fHEnE| wE FHE2 1.5
2138 [HFHEE[  XE EEH 1.6
2139 [HFHEE[  XE Pl 1
2140 [HFEE] WwiE )4 2.6
2141 [HFHEE[ XE TRE 2.3
2142 | 3MfHEnE| wE X1 2.7
2143 | MfHEnE| wE TR 0.2
2144 | MFHEnE| wE X% P 0.9




2145 [HFHEE[ XE MRIHLE 1

2146 [HFHEE[  XE T EAr 0.6
2147 | 3MfHEnE| wE R 1.3
2148 | MfHEnE| Wk FRE] 1.5
2149 | MfHEnE| wE R 2

2150 | HfHEnE| wE FEN 22
2151 [HFHEE[ XE T2 1.1
2152 [HFHEE|[ XE TR 0.9
2153 [HFHEE[  XE 7K P it 0.7
2154 | MfHEnE| wE ik F A 1.8
2155 [HFHEE|[ XE 2= G 0.2
2156 (47 dnE| A gl ok [P 0.6
2157  [HFHEE|[ XE k>4 0.6
2158 | MfHEnE|  wE BRI X 1.8
2159 | MfHEnE| wE T EH 1.1
2160 [HFHEE|[  XE Y 0.7
2161 [HFHEE[  XE S Fiy 77 0.7
2162 [HFHEE|[ XE gk 2k 5 0.8
2163 | HfHEnE|  wE TR 0.4
2164 |HFEE| wE | i Lan 0.7
2165 | MfHEnE| Wk 25 Tt 0.8
2166 | HfHEnE|  wE gl 2k A 1.3
2167 [HFHEE[  XE HHE4E 0.4
2168 (47 mE| XA gk B ) 1.5
2169 [HFHEE[  XE XS 1.1
2170 | 3fHEnE| wE kKA 0.5
2171 [HFHEE[ XE Ei Al 0.3
2172 [HFHEE|[ XE gk kAt 0.7
2173 [HHAHEE] B XE AT 0.9
2174 [ HFHEE[ XE X T o 0.4
2175 [HFHEE | XE TP 0.7
2176 | MfHEnE| wE TN AR 0.4
2177 [ HFHEE|[ XE I OA 0.3
2178 |MAERE] A | Al 04
2179 [HFHEE[  XE gk Ak ST 0.3
2180 |HFEE|] - K A 1.5
2181 [HpHenE| g | qkgRR 1.5
2182 [#tfimE| XA R 0.4
2183 |HfEE] KAk 0.3
2184 |HtAHEE| g | SRR 1

2185 | MfHEnE|  wE XS ] 535 0.8
2186 [HAHENE] Wik [ XA 0.8
2187 | 4tfienE| Kk XS K 1.1
2188 [#Hi&EE|] wr [ KeE 1.4
2189 |HtH#E] g | kb 1.4
2190 [ dnE| %A EEPN 0.7
2191 [HAHEnE| aHEs | kEE 3.3
2192 | 4nE| ass | BEHIE 6.8
2193 | HAEE| aEs | ZERUE 5

2194 | HHHEnE| aEs | ZEE 6. 1
2195 [HAHEnE| amEs | BEOE 2.5
2196 | HfraE| soss | FE 5.7
2197 | HH#nE| aEs | gkdkse 1.3
2198 | HAEE| aEs | G 1.5
2199 [HfHenE| wss | BEE 6.1
2200 | 4tpreE| soss | ZEMER 5.3
2201 | pHenE| aEs | ZXE 8.4
2202 | HAHEnNE| aEs | 2L 4.2




2203 [H#AHEnE | amEs | S]] 2.8
2204 (4t eEnE| aEs | BN 6.3
2205 | 4tpreE| soss | Z2A% 8.1
2206 [HFHEnE| aEs | B8 2.2
2207 | MtpremE | soss | BERE 3.9
2208 | 4tfreE| oss | Rk 4.1
2209 | HtpreE| soss | o 4.4
2210 | 4tpremE| soss | skRE 3.9
2211 [HPEnE| ass | BES 6.3
2212 [HFHEnE | aasEs | AFRER 4.7
2213 | HirEE| ass | Bkk 8.1
2214 | HFrEE | aEs i i 5.8
2215 [HAHEnE | aoss | skE 1.8
2216 | HAHEE| aEs | ML 8.8
2217 | mpenE| aEs | FilE 0.4
2218 [HFHEnE | amEs | Aadk 3.6
2219 [HFHEnE | ass | ZPEH 6.3
2220 | mpHEE| aEs | KT 6.3
2221 | MAHEnE| usEs | 2kl 4.4
2222 | MpreE| soss | BES 7.4
2223 | 4tpreE | oss | ZBEER 4.2
2224 [ HtFHeEnE | aEs | MR 5.6
2225 [HFHERE | amEs | O 6.7
2226 | MAHEE| s | ZES 8.8
2227 | tpreEE | soss | MG 4.7
2228 | 4tireE| sass | RS 4.8
2229 | stiremE| soss | EER 1.5
2230 | HArEE| sass | BEMA 1.2
2231 | MHHEnE| asEs | ZEE 3.2
2232 | tpremE | sass | gkg 3.3
2233 | HfHEnE | asEs | ki E 4.1
2234 | $tpreamE | soss | B 5.2
2235 [4t7inE | aHs | kAR 11

2236 | HfHEnE| aEs | EE 8.9
2237 |t prEE| suss | 2K 3.3
2238 | HFHEE | uHEs | MW 11.9
2239 [HFHEnE | aomEs | AR 1.3
2240 |t preEE | oss | gkfEAE 3.1
2241 | MHnE| s | 4 3.9
2242 [HFHERE | amHs | ZSsEdR 3.7
2243 | MtprenE | oss | kEE 2.9
2244 | MtFHeEnE | usEs | 2R 2.9
2245 | HFHEE | aHEs | RS 4.2
2246 [ HtFHEnE | aoss | gk 4.9
2247 | MFHeEnE | uss | 2R 4.7
2248 [ HFHENE | amEs | BERE 3.7
2249 | MtprEE| ogs | ZE 5

2250 [HAHEnE | amEs | ZEMED 4.8
2251 [HfreEnE| wwEs | sk R 3.7
2252 | MtpremE | soss | gkEAeE 5

2253 [HFHEnE | amHs | e 4.7
2254 [HFHEE | asEs | ZEE 2.2
2255 | MtpreaE | oss | BEELE 3

2256 | HAHEE| aEs | EE 7.3
2257  [HFHEnE | wEs | Ak 2.8
2258 | HFHENE | wER 5 3.7
2259 [4tf e | aHs | SRR E 9.1
2260 [HtfrenE| wgs | M FHi 5




2261 | HprE| ass | 3R 5.8
2262 | tpreE| soss | ML 4.2
2263 [HFHERE | amEs | 2l 6.8
2264 [HFHEE| ass | ZNE 6.9
2265 | HFHERE | oER 7k B 3.8
2266 |4t FHEnE | uss | ZBTE 8.3
2267 | MtpreE | soss | 25 10.3
2268 | HFHENE | anEs | ZEERE 6

2269 [HFHEnNE| wWEs | AR 5.1
2270 |4t premE | soss | AR 7.6
2271 | MArEE| soss | &5 7.8
2272 |HFHEE | aHEs | 2SN 6.6
2273 | tpreEE | sass | 25 7.5
2274 | HAEE| s | ZEH 6

2275 | HFreEE | aEs Yo 4.3
2276 | MtpreEnE | oss | gk 3.9
2277 |t prEE | oss | gk 5

2278 [4tfienE | ass | RUE 5.7
2279 [HfHEnE | wEs | & 3.6
2280  [HFHEnE | aass | BAEE 6.7
2281 (4t e | aHs | EBESOK L7
2282 | MpenE| aEs | gkdkka 5.1
2283 [HAHERE| amEs | BT R 1

2284 [HtFHeEnE| ass | 2TE 1.5
2285 | MtfHeEnE| usEs | BOE 2.5
2286 | 4tfremE| sass | B4 7.1
2287 [4tFieE | aHs | A 1.6
2288 | 4tfemE| sogs | 2T 6.5
2289 | HAHENE| uEs | ZEN| 3

2290 | HMprenE| agEs | gkdkil 2.5
2291  [HtAHeEmE | amEs | skgke 5.8
2292 [HFHERE | mHEs | FENR 3.3
2293 [HFHEE | ass | K 5.1
2294 | HFreEE| aEs 2 2.8
2295 [#t7iimE | aHs | ZEER 3.2
2296 |4t preE| soss | SR 0.5
2297 | tpreaE| sasEs | R 3.6
2298 [4t7iemE | aHs | skAEA 3.6
2299 | 4iremE| oss | kA 6.4
2300 [HHHeEnE| aHEs | kS E 4

2301  [HFHEnE| ass | ZAHE 3

2302 | HfreE| ass | F5E 2.9
2303 | HfrEE| sass | BEE 1.8
2304 [HtFHEnE | ass | HEE 1.9
2305 [HFHERE | oER R 4.1
2306 [t AHEmE | amEs | AFEH R 3.5
2307 | 4tpreE| soss | s RUE 4

2308 | 4tFremE| sass | ARAER 1.5
2309 [HFHEnE | wwEs | S 1.8
2310 | HfHEnE| usEs | ZKE 3.9
2311 |4 AreEE | soss | EEBHAL 1.7
2312 [HFHEnE| aHEs | 1EH 4.3
2313 | 4fHEnE| uss | mEY 2

2314 |HFEE| wans | T2 1.7
2315 (4t enE | ass | ARRHIE 3.4
2316 [HAHEnE | aosEs | AR 1.9
2317 [HAHEnE | amEs | AERAE 2.5
2318 | HFHEE [ wEs HE 5.8




2319 [HFHEE | asEs | A=
2320 [#HFE ifég E‘—,E H’H ZZEZ o
o e aen ot o
2322 | HPHEE | s ;3% o
2323 [HFrHHnE | mER JP?T =
2324 | HFrEE | aEs f'ﬂffj%: é 5
2325 [HtFHEnE | ass | MEGH %
2306 iR EE uil | Al o
2327 | HFrEE| aEs j'z?]‘(r“ 5
2328 | HFHHE| aEM éié” X 3
2329 (M MHHEIE| agEs ”Kﬂi}\ ;
2330 [HEFHEnE | s E'V? )
2331 [ HFHEE | wER o 57'2 o
2332 | HHHEE| aEs jﬁ%% w
2333 | HFHENE| aER S’Kﬂ% =
2334 | HHHENE| OEM EB iq E?E' o
2335 | MFEnNE| ik 5"%% S
2336 |HAHETIE]| Rk é%/“z :
2337 [HAVENE| s | Y Jl}%\ bR 2
2338 | H A AR | ufe | FE o
2330 |HHAHEE| ufeh | 4 K i1
2340 |HATERE| g i%ﬁ i
2341 |HATERE| i %F; i X
2307 [ARAE] i | T o
2345 [HEAEm| St | Rl v
2344 | MFAHEIE] Rk ;57% o
305 THREEl nih [ ik s
2346 | HFHERE | wER *Ea?:% .
2347 | HFHEE | uER 7"%]‘5%1 =
2348 | HFHEE | OEM 7?&;!% -
2349 [ HFHEE | wER EB%EE &
2350  [HEFHEnE | g EB HH 4 ;
2351 [HFHEE | wER Dﬁ ?EFU“] :
2352 [HAHEE| aEs | F E*ﬁ X
2353 | HfHE | aEM FKEH é o
2354 | PHENE | OEM EB HH fk =
L IR R ET =
2356 | HFHERE | mER 7?[5 Eﬁ{% »
2357 [4tFienE | amHs ?;D{%i:’i =
2358 | HtfrenE| aEs | HE 5'%1 :
2359 [ HFHEE | mER Eﬁtﬂ%ﬁ m
2360 | HFHEE| aER ﬂ‘i‘ﬂ'ﬂ 5
2361 [HFHERE | wER %2 Z T
2362 | HAHEE| OEM i%h— o
S hirea i THe =
2364 [ HFr#nE | WmER EK HH i 5
2365 [4LFHEnE | g ;Er;‘lé :
2366 [HAHERE | amEs | AR Hﬁ; L5
2367 | HFHERE | uER inMﬁi i
2368 | HAHEE | OEM FKQ%% 05
2369 [ HFHEE | mER EB i Jé s
2370 [HAEE] ush | Tl =
2371 [HAHEE | amEs | H il;‘ =
2372 | HFHERE | uER = =
2373 | HFHEE | aEM 7&} x
2374 [HFHENE | WER 7%"%%'3}% -
23 [EAEE] vk PR =
376 | HPHEE| uHs | BET g: f




2377 [ HAHEnE | aEs | ZAHE

2378 | MtfHenE | aEs | At

2379 | HpHenE| aEs | At 5.5
2380 | HfHENE| uEs | ZE 5.3
2381 | HFHERE | wER NI 1.3
2382 [t AHeEnE | amEs | AEEHAE 3.4
2383 [4tfienE| wwEs | KRS 3.8
2384 | 4tpremE| oss | gEERE 5.3
2385 | HFHERE | wER oo 1.7
2386 | HtfHenE | aEs | AutE 2.1
2387 [ HtfHERE | amEs | AEWT

2388 [HtfrenE | wwgs | Ayt 3.4
2389 | HfHEnE| usEs | A4 5.2
2390 [HFHEnE| wwEs | s XU 5.8
2391 | M fHEnE| osEs | AE#E 4.7
2392 | 4tiremE| oss | ERZE 4.5
2393 | MAHenE| aEs | A 1.1
2394  [HAHEnE| amEs | E B 4.2
2395 [HtAHEnE| sk | BB 6.5
2396 | M fHEnE | oEs | Ay 5.3
2397 [ AHEmE | amEs | AT 4.6
2398 [HFHENE | amEs | KT 1.4
2399 | HAHHEnNE| aEs | AptiE 7.5
2400 | AHEnE| agEs | Ak X 6.4
2401 (47 enE | ass | BBk A 4.6
2402 [4#AHeEmE | amEs | AEEEID 4.5
2403 | HtfreE| ogs | R 4.3
2404 (4t e | aHs | AigkE 2.7
2405 [HtFHeEnE | aogs | At 2.6
2406 | HFreE | aEs e 5.2
2407 [ AHeEnE | amEs | AR 3.5
2408 | HfHenE | aEs | AN

2409 [HAHeEnE| amEs | A%

2410 [HAHEnE| aHEs | WER 4.8
2411 [ AHeEmE | amEs | A 4.8
2412 | HtpreE | sags | AoutEs

2413 | HtpremE | soss | gEeHE

2414 | $preE | soss | FEH 1.4
2415 | M AHEnE | ogEs | BEEAO 7.3
2416 [ HFHEnE | aoHs | AFeHEE 5.2
2417 | 3tpreEnE | soss | BB 1.8
2418 | tpremE| soss | AEEAT 2.4
2419 | HpremE | soss | gkrgse 3.6
2420 | HAHEE| aEs | SRR 5.2
2421 | MfenE| oEs | AutAg 5.6
2422 [#HHEE| asEs | fins 1.8
2423 | $tpreE | sass | A 3.6
2424 | HFHEE | oER BT 4.9
2425 | MpHEnE| aEs | ZERGE 2.4
2426 | MtpreE | soss | g%k ST 4.8
2427 | prEnE| soss | KRR 0.9
2428 [HtFHeEnE | amss | AUk 3.4
2429 | MpenE| oEs | HikE 3.5
2430 [HFHEnE | wEs | MEk 2.9
2431 (47 enE | ass | AREE 7.1
2432 [ HFHEnE | aoEs | FEAE 3.3
2433 [HtFHEnE | amEs | AER 3.3
2434 [4tFenE | ass | ARl 5.4




2435 |t preE | soss | gEEER 2.3
2436 | HfHenE| aEs | g 4.1
2437 | HPEE | gk | ARE % 3.9
2438 [HtFHEnE| ass | BBAR 5.1
2439 | HfHEnE| osEs | BEHHA 1.9
2440 [HAHEE| asEs | 4% 3.6
2441 | $tpreEnE| oss | AR 7.8
2442  |HfHEnE | ass | e 8

2443 | MtpreE | soss | spt1e 2.9
2444 4P e | aHs | BT 6

2445 | HprEE| soss | 2H 4.5
2446 | MH#nE| uEs | FIhs 14.3
2447 (W PHEE| g | 40 8.3
2448 [ HFHERE | aoHEs | PUREL 4.7
2449 | MHenE| oEs | HAEE 4.5
2450  [4tF enE | aHs | BT 3.5
2451  [4tFienE | aEs | kT 4.1
2452 | HtpreE | soss | RGE 6.8
2453 [HtFHEnE | amgs | HE 2.7
2454 | HFHENE | oER gk 7.1
2455 | MtpreE | oss | gkega 6.6
2456 | MtpreE | sogs | BESE 3.4
2457 [ HFHERE | aesEs | skl 3.3
2458  [HtFHeEnE| sk | gk EA 2.8
2459 | HFHENE| uEs | 8% 5.7
2460  [HFHEnE| aHEs | wiEE 8.2
2461  [HFHEE | aHs | BEHEI 3.6
2462 |47 eE | amHs | #9 7.4
2463 | HAHENE| aEs | ZEID 1.8
2464  [HtFHEnE | mss | W HE 6

2465 [HFHERE | amEs | N 1.4
2466 |HAENE]| kN | @ED 6. 4
2467 | MPHenE| aEs | F=% 5.3
2468 [HtFHeEnE | amgs | skaAdE 2.7
2469 [HFrHEnE| wEs | HEE 3.7
2470 [HAHEnE | aoss | B 5.5
2471 |[HFHEE| s | KAE 6.7
2472 [ HFHERE | aEs | BXEEH 5.7
2473 | MtpreE| soss | gEE 4.1
2474 | HprEE | soss | xifRie 4.4
2475 [HtFHEnE | aHs | BRI 3

2476 | MtfrEE | sugs | BHE 6.6
2477 | FHEnE | oss | 2.6
2478 | tpremE | soss | gkl 3.9
2479 [HtFHeEnE | amgs | EE 4.4
2480 | HtiremE| sosas | BEgldE 2.7
2481 [HFHERE | amEN | Bt 5.5
2482 | 4tireE| soss | BEIE 6.1
2483 | MfHenE| aEs | ZI1iE 2.1
2484 | MfenE| uEs | FHE2 1.5
2485 | HtfremE| sogs | WA 0.7
2486 | HAHEE | OFEM T&H 2.1
2487 | MtpreE| soss | 4 EE 3.3
2488 [HtfrenE| wwgs | skiEg 1.2
2489 | HAHenE| aEs | gkiE 5

2490 [#tf e | aHs | ke 4.3
2491 [HAHEnE| amEs | ke W 7.3
2492  [#tHHenE| oss | jkiEs 3.8




2493 | HiraE| aas | kiEg 4.2
2494 | tpremE | oss | gk s 6.5
2495 | HMFHEnE| osEs | gkER® 3.4
2496 | HremE| osEs | Ko E

2497 | mpEE| aEs | kKEE 3.7
2498 [#tFemE | mHs | ket 3.9
2499  [HFHEnE | amHs | gkergE 3.4
2500 | pHenE| oEs | kR 5.8
2501 [HFHEnE| wwEs | KB 3.5
2502 | fHEnE| osEs | kRS 3.8
2503 [HFHEnE | aoHEs | 9K iE

2504 | HtpreE| sass | kEBE 4.2
2505 [t AHeEmE | amEs | sk iEdr 2.6
2506 | M fHenE| aEs | ER2 5.6
2507 | HPHEE | aEs g 2.9
2508 [HAHEnE | amHEs | kR 4.7
2509 [HAHEnE| aHEs | kEE

2510 [#tAHenE| aosEs | sk lE 5.6
2511 | MtprenE| soss | gk EA 4.5
2512  [4tFHenE | aoss | gk4ek

2513 [HAHeEmE | amEs | k4l 3.8
2514 | HF e | aEs K7 4.2
2515 [HAHeEnE| aomEs | sk EE 2.9
2516 [4tFHenE| aaoss | sk4u

2517  [#t7 emE | aHs | kKBS

2518 | 4tfremE| soss | kiEe 5.7
2519 | HtfremE| sogs | wuE 5.5
2520 | HpHenE| aEs | gk KRR 5.3
2521 [HtfHeEnE| oss | b

2522  [4tFHeEnE | aoss | sk4kE

2523 | MtprEE| soss | kS A 2.4
2524  [HtFHEnE | sk | kR 2.7
2525 | pHenE | aEs | sk EA

2526 | M pHEnE | aEs | gk EAE

2527 [HtFHeEnE | aoss | ENCE 2.7
2528 [HfHEnE | aass | ke A 2.4
2529 [HtFHenE| ass | HHEE 3.9
2530 | HtpreE| soss | 2T E 5.6
2531 [HtfHEnE| ass | REE 1.5
2532 | mfenE| aEs | k4 ER 2.4
2533 [HAHEnE | amEs | sk EK 4.2
2534 | fHenE| agEs | kR 2.3
2535 [HFHEnE | aosEs | sk R3E 1.6
2536 [HtfHeEnE| ass | kR 2.5
2537 [4tFHeEnE | amss | gk4tE 2.8
2538 [HAHEnE | aoHEs | kK ER

2539 [HAHEnE | amHEs | BXEE 3.1
2540 | HpreE| oss | # 2.7
2541 | HFreEE| aEs LAy 4.8
2542  [HtFHenE | awEs | kR 3.4
2543 | MtprEE| soss | SOE 1.6
2544  [HAHEE| aEsN | HEHR 1.4
2545 | M prEE | oss | ki 3.8
2546 [HFHEnE| wEs | kEE 5.7
2547 | MtpreE | soss | kS It 6.2
2548 [HAHEE | aHEs | kR EE 4.7
2549 | MtpremE | soss | gkiEss 3.9
2550 | HpHenE| aEs | gk EiE L1




2551 | MtpheEnE | soss | skiEfh 9.8
2552  [HAHEnE | amEs | BiESE 1.4
2553 [#tfiinE| aHs | k4R 2.1
2554 | HremE | ass | ke L1
2555  |HfHEnE | aosEs | sk R 2.2
2556 [HtfHeEmE | aoHEs | sk R 1.8
2557  [HAHEmE | aoEs | kiE R 0.6
2558 | MtfHeEnE| usEs | M2 2.6
2559 | MAHEE| aEs | EEI 4

2560 | 4#trremE| ass | A Z 4.8
2561 [#tfiiE| aHs | BEEXR 6.4
2562 | M fHenE| aEs | ARG 2.4
2563 (4t enE | aHs | %M 5.6
2564 | HAHEE| aEs | FEREE 4.4
2565 | M fHEnE| uEs | E 4.3
2566 | HFEE| oss | S 4.2
2567 | 4tFHeEnE | osEs | 24EL 5.9
2568 | HtfremE | sags | 2t 3

2569 [HtfHenE| ass | AR 4

2570 | pHenE| aEs | Eii 1.2
2571 | frenE| oEs | FokY 4.8
2572 | MtfHgnE| soss | THEA 3.6
2573 [HAHEnE| aamEs | THEID 6.9
2574 [#t9enE | ass | 4Gt 1.3
2575 | MtpreE| oss | EEd 2.1
2576 [HAHEnE | aasEs | AEE 0.9
2577 |HFHEE| aHs | EEAE 0.9
2578 | MtpreE| soss | s 4.3
2579 | MpHenE| aEs | R 3

2580 [4tfHenE| amss | miE 2.9
2581 | 4tfremE| sogs | g 1.6
2582  [HFHERE | aoHEs | ZLF 4.5
2583 [HFHENE| amHEs | SR 4

2584 [HtFHeEnE | ass | BEA 2.3
2585 [4tFHenE| sk | BfEh 6.2
2586 | HtfHEnE | amEs | AU 6.3
2587 | MtfreE| suss | ZEE 2.3
2588 [HAHEE| asEs | B4 4.8
2589 | HAHENE| oM | BO%E 5.1
2590 | M AHenE| o | mEaok 4

2501 [HfHEnE| ass | 5¥iE 2.8
2592 | MtiraE| soss | gk 4.3
2593 | MpHenE| uEs | EE 6.8
2594 [HFHEnE| wEs | BEE 4

2595 | M fHEnE| uEs | ZEE 1.2
2506 [HAHERE | amEs | mJaOk 4.2
2597 | HtfraE| suss | BHEER 5.8
2598 [HtfrenE| wEs | B4 3.5
2599 | M AHenE| ogEs | ZEpka 5.1
2600 [4tFHenE| mss | Eiih 2.4
2601  [4#AHeEnE| asEs | ZE4 1.3
2602 [4tFienE | aEs | mEHER 6.8
2603 | HpHenE| aEs | Bl 5.2
2604 | 4remE | ass | EEH 3.8
2605 | HpHEnE| aEs | ERS 1.4
2606 [HAHEnE | aosEs | mEE 2.4
2607 [HFHEnE | amHEs | iR 4

2608 [4tfienE| wss | MHEE 4.5




2609 [t AHEnE | amEs | 2Rk 3.7
2610 | 4tpremE| soss | A 2.7
2611 | HpreE| soss | BE R 2.2
2612 | MpHEnE| oEs | Eidie 3.6
2613 | M fHenE| aEs | EEMY 0.7
2614 [ AHEnE | amEs | [EEK 1.3
2615 [4tFHeEnE | ass | Fibs 6.5
2616 [4tfHeEnE| ass | TEe 4.1
2617 | HMAHEnE| osEs | F4keE 1.7
2618 [4tFHenE| oss | FARED 3.5
2619 [4tfienE| aHs | EE 2

2620 | AHenE| aEs | Fikk 3.1
2621 | MpHenE| aEs | TRk 2.2
2622 |HFIERE| wHEM | F E 8.8
2623 [4tFHEnE| s | FSEA 4.9
2624 [4#tFHeEnE | aoss | Tk 4.4
2625 | HAHEnE| aEs | FiEX 7.8
2626 | HFHENE| osEs | FEL 2

2627 | MAHEnE| osEs | FiHEE 2.9
2628 | HtfHemE | aEs | Fikk 8.2
2629 | MpenE| aEs | FEHE 2.6
2630 [4t7 emE | amHEs | P 5.2
2631 [HFHEnE| wEs | FRRE 3.9
2632 | MAHenE| o | bk 2.3
2633 | HAHEE| aEM | FE4 2.6
2634 | HfHEnE| osEs | FAEH 5.9
2635 [4tFHEnE | sk | FSRE 6.5
2636 [4HtfHEnE| wEs | T{E4 5.7
2637 | HAHEE| aEs | SR 2.2
2638 [4tfrenE| wwEs | T 3.1
2639 | HfHenE| aEs | FiE 1.7
2640 | HtpremE| oss | g 4.5
2641 | HAHENE| aEs | FiE 1.8
2642 [HFHEnE| wEs | XEIT 6.3
2643 | HfHEnE| oEs | XIEHP 7.8
2644  [HAHEnE | oHs | FEPE 1.3
2645 [HFHERE | ass | X7 1.9
2646 | FHEnE | uss | EER 4.8
2647  [HFHENE| ass | FTEE 3

2648 | HfHenE| aEs | XHE 3.9
2649 | HAHEnE| aEs | TR 5

2650 | HfHenE| aEs | FiRHE 3.7
2651 [4tfHenE| sk | Ti 9.1
2652 | M PHENE| oEs | 1aps 3.8
2653 [HFHEnE| wEs | Tl L7
2654 | HFHEnE| uEs | FERE 0.9
2655 | HtpHeE| soss | FoE 7.2
2656 [HFHERE| aEs | B 6.6
2657 | HFreEE| aEs T g 3.9
2658 | HtfHenE | aEs | X AR 2.7
2659  [HAHERE | amEs | SR 2.3
2660 [4tFHeEnE| sk | FSRE 3.9
2661 | HAHEnE| oEs | Fikut 1.3
2662 | HAHEE| aEs | ks 0.8
2663 | 4trrenE| saHEs | 2IA 2

2664 | HFHENE| uEs | FHEE 2.9
2665 | M AHEnE| uEs | FHEE 3

2666 | HFHERE [ wEs Tk 1.9




2667  [HfHEE| asEs | T4 1.7
2668 | M fHEnE| uEs | TR 1.8
2669 | 4tFremE| soss | AR g 5.4
2670 | HAHENE| aEs | FARED 3.5
2671 | HAHEnE| oEs | FAEN 2.8
2672 |HFHEnE | aass | R 2

2673 [HtFHEnE| aoss | FaEd 2

2674 [HAHERE | amEs | Fab 2.5
2675 | MAHENE| oEs | FAELD 2.5
2676 | MfHEnE| aEs | FAELA 1.6
2677 | 4tpreEmE | soss | RINE 3.4
2678 | fHEnE| usEs | FAEH 3.5
2679 | MAHenE| aEs | Fi 3.5
2680 | HfHenE| aEs | FAEM 4.8
2681 | 4tfremE| soss | EEN 2.5
2682 [t fHEnE | aoHs | Taad 2.5
2683 [HfrHEnE| wEs | TAEE 2.5
2684 | 4tpremE | oss | RIHE 2.9
2685 | M AHENE| oEs | FaER 2.5
2686 | 4HtfremE| sags | 2E4 1.8
2687 [ FHERE | amEs | R 3.7
2688 [HFIHEnE| wEs | EEM 3.5
2689 [4tFHenE| sk | TR 4

2690 | M AHenE| aEs | B % 1.4
2691 | HpHenE| oEs | FiAg 3.5
2692 [HAHEnE| amHEs | F4kE 3

2693 | HAH#nE| aEs | Fib 3.5
2694 | HpreE| soss | B2 9

2695 | M AHENE | aEs | 2RO 2.2
2696 | HFremE| sogEs | EpIgE 2.4
2697 | 4tfremE| oss | HoEZE 2.6
2698 | HtfraE| soss | AHE 1

2699 [HtfrenE| gk | Tk 2.3
2700 [HFHERE | wER T& 2

2701 (4t e | ass | PAES 1

2702 | HirEnE | soss | PIE L5
2703 [HFHEnE | amHEs | Rk 3.2
2704 | mpEnE| aEs | FiE 3.8
2705 [HfHeEnE| wss | Tk 5.6
2706 | HtpremE | soss | #ps 3.7
2707 [ FHenE | amHEs | Bk 4.9
2708 [HFHeEnE | amEs | 5 7.2
2709 [4t7ienE | aHs | Fhag 7

2710 | HAreEE| sass | g4k 6.8
2711 (4t eEnE | ass | #orlg 7.4
2712 | MtAreE| soss | FER 7.9
2713 | HFHEE | uER TiE 8.9
2714 [HFHEnE | amEs | B 6.3
2715 | MAHEnE| uEs | R 6.4
2716 | HArEE | soEs | ARk 4.5
2717 [HAHEnE | asEs | BHiE 11.1
2718 | M AHenE| aEs | Fokim 8.8
2719 [HAHEE | aesEs | #dl 10.7
2720 | MpHenE| oEs | B 7.1
2721 | mpEE| aEs | BEIRE 3.3
2722 |t ireE | soss | gl 5.7
2723 | 4tfHEnE| suss | SRR 5.8
2724 | HFHEnE [ aosEs | BUEER 0.7




2725 | HireE| oss | SR 3.4
2726 [HFHEnE | aaHs | BT 4.9
2727 [HtHEnE | ass | 3 4

2728 | MfenE| oEs | EEA 4.9
2729 | MpenE| oEs | B A 5.3
2730 [HFHEnE | aoss | I 2.6
2731 | 4tfreEnE| usEs | EAOW 0.7
2732 [HFHEnE | aamEs | MR 5.4
2733 [HAHEnE| ass | b 5.3
2734 [HfHEnE| wss | s 5.8
2735 | HAHeEnE| aEs | Fos 6.2
2736 | MtfreE| soss | AR 7.1
2737 | HirEE| sass | B i 5.6
2738 [HfreEnE| wawEs | #dn 8.5
2739 | 4#torenE| oss | B4 6.1
2740 [HAHEnE | amEs | BbAg 9.3
2741 [HAHERE | mEs | oK 5

2742 [HAHERE | amEs | R 12.9
2743 [HFHERE | amEs | B 6.9
2744 [ HFHERE | aHs | BiESg 4.5
2745 [HFHERE | aaHEs | g 3.4
2746 [HFHERE | aoHs | BT 3.6
2747 | HpreEE| ass | s 10.8
2748 [HFHEE| aHEs | BUEER 0.6
2749 [HfHenE| wss | #E 3.6
2750 | HpreE| oss | B 5.8
2751 | HpreE| soss | #Uhig 2.6
2752 [HAHEnE | amEs | kR 5.3
2753 | MAHEE| s | R 5.5
2754 | HirEE| ass | BER 7.1
2755 [ HfHEnE | aasEs | BEE 6

2756 (47 E | aHs | B 10. 1
2757 | 3tfrEnE | soss | BptE 2.4
2758 |[HfreEnE| wEs | SEE 5.2
2759 [HfHEnE | wEs | B 5.1
2760 | HfremE| soss | B s 3.5
2761 | HtpreE| oss | T5% 9.8
2762 | HfreE| soss | B 6.2
2763 | HfHEnE| uEs | EEE 10.4
2764 | HfenE| oEs | FptAg 4.4
2765 |4t premE | oss | diRkzg 7.6
2766  [4HtFHEnE| ass | T 7.1
2767 | HHHnE| uEs | FuEk 8. 1
2768 [HFHEnE| sk | BEF 4.1
2769 | HAHEE| waEs | #giE 5

2770 [ FHEnE | amEs | BbaT 1.3
2771 [HAHERE | aeHEs | BT 2.9
2772 | HFHEnE | aass | EME 3.5
2773 | MpreE| soss | BEE 3.8
2774 [HFHEnE | mss | BUDEE 6.2
2775 | HpreEE| soas | sk HE 7.1
2776 [HFHEnE | amEs | BATIR 3.9
2777 [ HFHEE | oss | BESE 5.9
2778 | MpenE| oEs | BEA 4

2779 [HtfEnE | wss | BULEE 0.8
2780 [4tfienE| aHs | Bk 6.9
2781 [4tfienE| aEs | Bt L1
2782 | tireE| sass | ks 2.2




2783 [HAHEnE | amEs | Ik 5.3
2784 | MtfremE| sogs | PR 2

2785 | HtfreE | sass | KT 6

2786 | M FHENE| uEs | ZHE 6.7
2787 | tireE| uss | B 3.9
2788 | 4tfemE | sogs | ZpR 1.8
2789 | HtfreE| oM | E A 4.2
2790 [HAHERE | amEs | 2NN 4.2
2791 | HAHEnE| aEs | KA 4.5
2792 [HFHEE| uHEsN | A 5.1
2793 [HAHEnE| aHEsN | ZEER 4.8
2794  [HFHEE [ aHs | AL 3.9
2795  |[HFHEE | uHs | BEAE 2.7
2796 [HAHEnE| ass | 2 1.4
2797 [HAHERE | aaHs | ZJRIL 4.7
2798 [HFHERE | amEs | 2RI 3

2799  [HAHENE | amHEs | HRE 3.6
2800 [HFHEE| s | ERE 1

2801 | HpHeE| aEs | AR 11.8
2802 | 4tfremE| sass | BB 1.6
2803 | HtfreE| sass | My 1.9
2804 | HtFremE| soss | XZiE 4.5
2805  [HfHEE| ass | B hHis 4.7
2806  [4tFHEE | mEs | ki 5.3
2807 | 4tfremE| sosEs | MIE 2.9
2808 [#tAHenE| aomHEs | HEEE 2.9
2809 [4tfiemE| waHEs | Exd 2.3
2810 [#tAHeEmE| amsEs | 2kl 5.9
2811 [HtFHenE| ass | BdLE 3.6
2812 [HFHEnE| aHEs | UG 9.5
2813 [HFHeEnE| aHEs | ZAHE 9.4
2814 | 4tireE| oss | XEE 3.1
2815 [ FHERE | amEs | At 2.1
2816 | HtfHeE | aEs | ZEHED 1

2817  [HFHERE [ amEs | 2 2.3
2818 [4tFHERE | amEs | 2D 4.5
2819 | #tfreE| ass | fEER 6.4
2820  [HAHERE | amEs | oD 5.1
2821 [HFHEnE| s | Ak 3.4
2822 | MtfreE| uss | =Y 7

2823 [HFHERE | amEs | ZROK 5.4
2824 | HFHERE | aHs | Z2EAE 1.9
2825 | 4tfremE | soss | sEogE 4.3
2826 | MFHENE| uEs | ZKRE 4.5
2827  [HFHERE [ aoHEs | 2R 7.4
2828 |[HfHEE| aHEsN | AR 5.6
2829 [HFHERE| aHN | G 5.3
2830 | 4tfraE| suss | BEHRE 6.8
2831 [HtfHeEnE| amEs | A 9.8
2832 | M| aEs 9, 7.3
2833 [4tfienE| sk | 2HR 2.3
2834 | MAHenE| aEs | Z g 6.2
2835 [#tftemaE| omst | ZFEEDD 1.4
2836 |HFHEE| wEN | & L1 5.5
2837 | 4tremE| Kk | BkA b 4

2838 | #frmE| KEE | EEH 6

2839 | 4#tiremE| Kk | BkA 7.5
2840 [#tFHenE| kEE | BRELNI 4.5




2841 | MfenE| kEAgE | G b= 6.8
2842 | #remE | kEE | EDkE 4.5
2843 | 4#renE| Kk | 2B 6.8
2844 | HEE|] KEE | kg 3.7
2845 | HmE| KEE | AR 4.5
2846 | 4irenE| Kk | PR 4.5
2847 | HremE| Kk | X[FHEZ 3
2848 | mp#nE| kEAE | @b 4.5
2849 [4tfignE| kEk | BiEk /
2850 [H#tfHenE| kEE | BB 2.5
2851 [4tFrHenE| kEEE | BN 9.5
2852 | 4#remE| Kk | gkEE 9.7
2853 [HtfrenE| kEE | B4tk 6
2854 [4tfienE| kEg | g2 9.5
2855 | 4#tfremE| Kk | S 6.5
2856 | 4tsremE | KEE | BkRkeH 7.5
2857 |[#tfAEmE| xEm | B4 438
2858 [HtfrenE| kEE | EredE 6
2859 |[4tfienE| kEg | BvES 4.5
2860 |4#trremE| Kk | ERE o
2861 [HtfrenE| kEE | BAEIE 11
2862 |4 f3dnE| kEE | HEE 9.8
2863 | 4tiremE| KEE | skH1E 3
2864 | HtpremE | ke | BKAED 7.5
2865 |4tirenE| Kk | BEE 4.5
2866 [4tFHenE| kEE | EES 9.5
2867 [ fAEmE| xEE | kEE 9.3
2868 [4tfHenE| kEE | R 3
2869 [4#tiE| kEm | BB 6
2870 [#f3mE| xEE | EKE 6
2871 [HtFHeEnE| kel | AR 4.5
2872 |[HfHEnE| kEE | B EWE 7.5
2873 | HrEnE | KEE | el 0.3
2874  |[HPHEE|] cEn | s 6
2875 | 4remE | KEE | Bk 6
2876 | HrEmE| KEE | EER 4.5
2877 |4 iEnE| kx| A H 3
2878 | 4#renE| Kk | HAaE 7.5
2879 | HtiremE| ke | MR 8
2880 |#tsremE| Kk | E4wE 5.2
2881 [#tf#nE| kEE | BEE 6
2882 |4 fremE| kEE | Bk o
2883  [4#tfHenE| kEE | BkEA 9.5
2884 | 4tfremE| kek | BkEE 4
2885 |4#tfremE| Kk | BOEE 35
2886 | HtfHamE| KkEAE | BKMEIL 41
2887 | #frmE| Kk | HEE 10
2888 | 4#trremE| kg | §kA S S
2889 | 4tfremE| ket | LRk 4.5
2890 |#trremE| Kk | EE S 5.3
2891 [HfreEnE| KEE | BFHFK 4.5
2892 [HtfH#nE| kEE | BOESH /
2893 | 4tsremE| KEE | PR 6
2894 [4tFienE| kEg | BKEEAL 8.6
2895 |4#trremE| kEE | BkE 4.5
2896 | 4#tsremE| Kk | ENIE 10
2897 |4 fremE| Kk | EHAE 3
2898 | 4#tsremE| Kk | EFME 0.5




2899 [#tfH#mE| kEE | FEH 3

2900 [HfHeEnE| kEdE | STk 7.5
2901 [HtHHeEnE| kEE | B5AEE 8.1
2902 [#tfieEnE| kEn | Tk /.5
2903 | 4#tfremE| K | R 1.7
2904 | 4tsremE| ke | Egk8 6.5
2905 | #tfremE| Kk | TER 9.4
2906 |4t 73dmE| kEiE | Bk 1.2
2907 [#tfiemE| kEn | BgE 6

2908 | 4tfremE | kEE | BkOEH 4.8
2909 [#tAHemE| kEE | skEAL 2

2910 [#3dE| kEE | B 5.2
2011 | 4#tiremE| Kk | kA A 8.6
2012 |HFEE| KEpE | Bk 1.2
2913 [#feEmE| kx| i 7.2
2914 | #aremE| K | SRR 4.8
2915 | 4#trremE| KkEE | A4 2

2016 | 4#trenE| KeE | BERE 1.2
2017 | 3tpremE| ke | EERGEE 4.1
2918 | 4#tyremE| kEE | B 2.6
2919 | HremE| keE | S 5.2
2920 [HAHEnE| kEE | TES 1.2
2921 | #AremE| kEE | & 6

2922 [#t9enE | kEn | BkERE 6.8
2923 |4t f3emE| kEE | BkEEE 4.2
2924 | HyrenE| ke | S 2.4
2925 | 4remE | KEE | BoaE 3.8
2926 | 4torenE| ke | EJREE 3.6
2927 [#t9enE | kEn | Bg s 6.3
2928 | HfHENE| KkEE | ZLP S

2929 | MAHenE| KEAE | L 4.5
2930 [#fdmE| xEE | BB 4.8
2931 [#tHHEnE| kEE | BsEid 3.6
2932 |HAEE| KEE | BsA 1.2
2933 |4ty enE| kEE | BEE 2.4
2934 | 4#tyrenE| kEE | B 2.4
2935 [#fdnE| xEE | EHEw 2.8
2936 |4t f3dmE| kEE | EECE 7.2
2937 [#t9mE| kEn | EYE 7.6
2938 | 4tiremE| KEE | MRk 8.4
2939 | HfremE | keE | Bk 4.8
2940 [HFHEnE| kEE | SRk 3.6
2041 | #aremE| K | BT 1.3
2942 [#t9MnE| kEn | BhE 5.3
2043 [#fEmE| kEE | kR 36
2944  [HtFHEnE | kEE | SR 4.8
2945 [ 3EmE| kEE | kA 36
2046 | #renE| Kk | §kews 2.4
2947 | MtpreEmE| kEE | @b 9.5
2948 | 4irenE| KEE | Ak 0.4
2949 | HiremE| K | EDkE 6

2950 |4 AremE| keE | EA 6.3
2951 | HAremE| kx| A8A 0.6
2052 |HAEE| kEE | Bk 3.6
2953 | 4#tfremE| Kk | gl 4.8
2954 [HtFHenE| kRl | ERE 2

2955 |4t 3dmE| kEE | B E 7.2
2956 [4#tAHemE| ks | phEE 6




2957 | HMtpemE| kEAE | S 3.6
2958 | fHEnE| KkEE | EEA 41
2959 | M AHEnE| KEE | AEA S

2960 |HFEE| kEE | Boaa 1.2
2961 | 4tremE| keE | Bk 3

2962  [4tFHEnE| kEE | BeE 1.2
2963 | 4fremE| Kk | BOEE 2.7
2964 | 4#tyrenE| kg | BER 44
2965 [4tfiemE| kEg | Bl 6

2966 | 4tsremE | KEE | sR[EED 1.5
2967 [HFHEnE| KEE | Bk 6

2968 [4tfHemE| kEE | EEE S

2969 | HAHEnE| KEAE | BT 1.2
2970 [#t9mE| kEm | ESEE 2.5
2971 | 4aremE | keE | Bk 5.6
2972  [#tFHenE | kEE | kphAE 2

2973 | 4AremE | kEE | EfEE 3.6
2974 | MArEmE| kx| EE2 3.6
2975 [#t9emE| kEn | ks 4.8
2976 | 4#torenE| kEE | EARE 4

2977 | 4tyrenE| ke | Bkok#E 39
2978 |4 fdnE| xEE | Hike 2.3
2979 | 4#aremE| KEE | EHAKE 4.8
2980 [4tFienE| kEag | B4R 1.7
2981 |4#tremE| K | L 2.4
2982 | Mp#nE| kEAE | kR 6

2083 |HfEE| KEUE Bk 108
2984 | HiemE| KgE | BERE 8.4
2985 | MtfremE| ke | Bk S

2986 |4 f3dmE| kpE | BEEE 3.6
2987 | HfremE | ke | AR 11.2
2088 | frimE| kpEm | AptE 4.3
2989 [#tAHemE| kel | BN A 6

2990 [#tHiemE| kEn | Esdk 7.5
2991 | 4#taremE| K | EEE 8.5
2992 | 4#iremE| Kk | AR 6.9
2993 [HtFHEnE| kEE | B4k 3

2994 | HremE | KEE | ETERR 4.6
2995 [4tfiemE| kEn | B4 3.3
2996 |[#tfAmE| xEE | B 5.2
2997 | 4tiremE| ke | )2 3.7
2998 | 4#tfremE| Kk | ERR 2.7
2999 | AHEnE| kEAE | E%H 8.1
3000 [HFFEE] xEn | ik 3.2
3001 [#HfHEmE| xEm | EEY 6.5
3002 |4t fH#mE| ks | ESEA 4.5
3003 [HtfHEmE| kEm | ExE 2

3004 |HPHENE| kEE | EXA 8.5
3005 [4t9temE| kEm | B 3.7
3006 |HAHERE| kEE | L% 7.5
3007 |4t fremE| ke | EREE 2.6
3008 [HtFHEnE| ke | EEH 5.9
3009 [AHtfremE| kEE | AR 7.3
3010 [4tfeEmE| keE | ErEE 39
3011 |4t fremE| ke | BRI 9

3012 |4t freEmE| kEE | EEE 6.2
3013 [HfHEnE| xan | EEe 5.2
3014 |4t fremE| kEpE | ETE 2




3015 [H#EmE| kEE | B 2.7
3016 [#tfHEnE| ke | EE 32
3017 |4t fremE| kpE | B4 6.2
3018 [4tireEmE| ke | EES 4.5
3019 |4 fremE| KEE | BEERE 3.5
3020 |[HtAreEmE| ke | RBEEL 6.2
3021 [Hf3EmE| kEm | kR 1.3
3022 [HtfAEmE| kEn | At 5.2
3023 [4fEnE| ker | gEEE 5.2
3024 [HfHEmE| kEE | &R 3.9
3025 |4tAreEmE| ket | E sk 6.1
3026 [HtFHEE| kEm | E4km 2.6
3027 |4 ftiEmE| kg | EHE 3.7
3028 [#titemE| kEmE | ER A 2

3029 [HAEnE| kEE | ERKE 4.7
3030 [#teEmE| kEE | ErEEE 10.9
3031 [HfHEmE| xEE | G5 2

3032 |4t fremE| ks | S 3.5
3033 [4titimE| kEm | B E 4.7
3034 [HfHEmE| xEm | EHEHE 5.9
3035 [#teEmE| ek | Bl 8.2
3036 [HfHEmE| xkEm | EGh 3.6
3037 [HtfAEmE| kE | EEX 9.2
3038 [4titemE| kEm | EEE 6.2
3039 [HfHEmE| xEm | SR 6.2
3040 |[4tireEmE| ke | pERdE 6.2
3041 |[HfHEmE| kEE | BEHEE 2

3042 |HfremE| kEE | BES 4.5
3043 [4tHeEmE| kEm | EDRE 10.5
3044 |[HfHEE| xEE | B4 9.3
3045 | HtAreEmE| kEk | E% 4 6.8
3046 |AfremE | KEE | E4EE 6.2
3047 |MftiEmE| ke | K4S 0

3048 |4t f4EnE| kEvE | ETEE 6.2
3049 |[Hfr#EmE| kEE | EEE 6.2
3050 [#treEmE| kEk | EELE 5

3051 |AtfremE| kEE | FEEE 1.6
3052 |HfrimE| ke | SRR 8.3
3053 [4tftemE| kEm | ESEa 6.2
3054 |4 fHiEmE| kEE | EHon 3

3055 [HEmE| kEn | EREE /

3056 |HAENE| KEE | EET 7
3057 |4tftemE| kEE | E% 2

3058 |[#tEE| kEx | B34 6.2
3059 |t fremE| kEE | EHES 2.2
3060 [#tAeEmE| kEE | BT 7.6
3061 |AtfremE| ke | EK o)

3062 |AtfremE| KEE | ErEsE 2

3063 [4tf4EnE| kx| BAEE 2.5
3064  [HPHENE| kEE | EREAT /

3065 | fHEE | kEAE | EFEL 2.2
3066  |HAHENE| kEE | EERE 7.5
3067 |AftimE| kg | e 7.5
3068 [4t7temE| kiEmE | EESRA 2

3069 |AtfremE| kEE | EEkAE 0

3070 [#t9teEmE| kEm | B4R 2.7
3071 [HPHEnE| kEE | EEN /

3072 | stfremE| kEE | E4Es S




3073 |[#tEmE| ke | BEE 5

3074 [HPEE| kEE | EER 4

3075 |[HtfAEmE| kEn | E%R 4.2
3076 |4 fEnE| KEuE =N 38
3077 |HAEmE|] xEn | EIET 10
3078 [HEE| kEE | B4l 6.3
3079 [HtfHEmE| xEm | EEE 2.6
3080 |[AtfremE| kEE | EHoE 6

3081 [4titemE| kEE | EEE 6.3
3082 |Hft#mE| kEE | EHioh /

3083 [4titemE| kEm | EEHEE 14
3084 |HftimE| KEE | JBETE S

3085 |AtfremE| kEpE | SRS 4.3
3086 [HFFEE] xEn | EHELL 5.2
3087 |AtfremE| kEE | SRR 4.7
3088 |4tftemE| kEE | EEKN o5.7
3089 [HAHENE| kEE | EAE 1.2
3090 [#fH#EmE| kx| EEID 1.2
3091 [#fHEE| kEE | g% 9.5
3092 |HftimE| kg | E 14 5.2
3093 [#iHEE| kEE | MES 4.2
3094 |[HfteEmE| ks | EdEAE 5.2
3095 |AtfremE| KEE | EEEA 3

3096 |MAEE| xEAE | HtbE 3

3097 |AtfremE| kEE | ST 7.5
3098 [#tireEmE| kEk | EEE 6

3099 [AHtftemE| kEE | EREE 35
3100 [#fH#mE| kx| EEo 3.8
3101 [HPEE| kEE | EiECH 9.5
3102 [HAEE| xan | G5 3.8
3103 [4t5HeEmE | kEm | EgEg 7.5
3104 [HPEnE| kEE | ER /

3105 |4 fH#mE| kx| XRE 3.7
3106 |[HtAEnE| ke | BEE S

3107 |4 fremE| ke | L2 2.8
3108 |#tArEmE| ket | B 2.2
3109 |[HfH#EmE| kEE | EE 0.5
3110 [HfEmE| ke | EEIL 4.5
3111 [ HAEnE| ke | SRR 0.5
3112 [Hf3EmE| xam | HEE 2

3113 [HAEE| kcEk | R 2.6
3114 [#EnE| kEE | BE 1.5
3115 |[HPEE| kEE | BEEE 6.7
3116 |4ArEE | ke | EFE /

3117 |4t EnE| kx| BT 3.6
3118 [4tEnE| ke | EEE 9.5
3119 [HfA4EmE| xam | 54 E 5.2
3120 |4 frimE| ke | SRR 3

3121 [#trEnE | kEE | EEE 6

3122 [HtfHEmE| xEm | EPk 4.6
3123 |[#tEnE| ki | @i o.1
3124 |HtfHEmE| xEn | EHefl 43
3125 |4 ftEmE| kx| e 1

3126 | 4tHEmE| kEE | B 0.4
3127 |4 ftimE| kx| FE%E 3.2
3128 |#tHrEmE| kEk | @z 0.2
3129 [HfAEmE| xan | HE= 5.6
3130 |4t fremE| kepE | EREL 4.9




3131 | HtHEnE| ke | DA 4.5
3132 |HPHERE| KEE | PR 0.4
3133 |[HfEmE| kg | ELEE 8
3134 |4 fEnE| keE | EHi 6.3
3135 [HAEE| kEE | EEGE /
3136 [ 4t5HEmE | ke | EDRAK 5.2
3137 |4 ftEmE| kEE | BEEE 112
3138 |4 fH#mE| ks | EJkE 32
3139 [#t5rEmE | kEm | EDRE 6
3140 |[HpEE| g | gEA 4
3141 |[HtEnE| ek | Bk 2.9
3142 |4 ftEmE| kEE | BEHERE 3
3143 [HPEE| kEE | XREEF 4.7
3144 | HtAEnE| ke | Egkak S
3145 |4 fremE | KEE | I 6
3146 [ HiHEnE| kEm | BEEE 11.2
3147 [HPEE| kEE | FHGE /
3148 |4 frEmE| kEE | EER 1.6
3149 |HEE| kEE | R 8.4
3150 [HpEE| kEE | @44 4
3151 [ 4tHeEmE | kEmE | EDRER 4.2
3152 |4 ftiEmE| kx| EkAE /
3153 [H3EnE| kEm | S 5.2
3154  [#t9rEmE| kEmE | B 3.9
3155 |4 ftemE| kx| 4 6.5
3156 |[4#tAEnE| kEk | E% 4 9.5
3157 [HfHEmE| xEn | ES 5.3
3158  |4tfHEmE| KEE =i 9.5
3159  |HtArEmE| ket | dkEpie 4.5
3160 [HfAEmE| xEm | EEE 2
3161 |[HtHEnE| kEk | ZBREE 4
3162 |HPEnE| kEE | EHET 12
3163 |4 fremE| ke | EUKAE 6.8
3164 |HfHEmE| kEE | EHE 2.6
3165 |4 frimE| kEE | E4ER 5.6
3166  [#tiHEnE| kEk | ExXE 5.2
3167 [HPHEE| kg | R /
3168 |4 ftimE| kx| B4R 11.7
3169 [#tiHmE| kEm | meER 4
3170 |HAEnE| kEE | EAEL 4.8
3171 | HtEnE| ke | XB/DEE 4
3172 |4 ftemE| kEE | ErEsE /
3173 [HpEE| kEE | g4 8
3174 [HFEE] rEr | B H 4.2
3175 |4 freEmE | kEE | SN 9.5
3176 |[4tEnE| kcEk | Bk 2
3177 |4 fremE| kx| EHEE 9.5
3178  |HAHENE| kEE | EXUE 7.5
3179 |[HtiEmE| kEk | EiEE /
3180 |[#ft#mE| kx| EEE 6.8
3181 |[#tiEnE| ki | EE 8.6
3182 |4 fremE| kEE | iR 4.5
3183 | #tfHemE| KEE B 3
3184 [HPEE| kg | EJkE 4.5
3185 |HfHEE| kEE | E4E 2.5
3186 [4tireEmE| kEk | Eide 2.4
3187 |4 ftimE| kx| RS 6.5
3188 | 4#tfHEmE| kEE | EEJA 33




3189 |[#ft#mE| ke | HEA 5

3190 |[HPEE| kg | 2EF 4

3191 |4 fr#mE| kEE | IR 8.5
3192 |[MftEmE| kx| XIFEH 4.5
3193 |4 fr#mE| kx| ERER 14
3194 |4 fremE| kEE | EHEL )

3195 |4 ftemE| KEE | EEE /

3196 |[#ftmE| kEE | THE 2.5
3197 [#rEmE| kEE | BE 6.5
3198 |4t fremE| ke | EANI 5.2
3199 |[HfHEnE| kg | BEE 44
3200 [HtfHEmE| ke | EitE 5.8
3201 [HpEmE| cEE | gL 0.6
3202 |4titeEmE| ke | HES 2.6
3203 |4 fremE| kEE | B 1.3
3204 |AfremE| keE | B4 6.1
3205 |4 fremE| kEpE | EEp 5.2
3206 | HAHERE| kEE | S 1.3
3207 |[HAEE] kEx [ OvE 4.2
3208 |[HftimE| kg | EDkiE o./
3209 |4t ft#mE| ks | SIS 6.5
3210 [HfHEmE| xan | gus 3.9
3211 |4 AreEmE| ks | EDRE 6.6
3212 |#EmE| kEm | g4 2.6
3213 |4 f#EmE| kx| Bl 2.6
3214 [HPEE| kEE | 48 )

3215 [HfHEmE| xEn | EPkiE 3

3216 |HAEE| kEE | HH 9.5
3217 |#taEE| ek | BEI 6.5
3218 |4 ftimE| kg | Hade 6.5
3219 |4 freEmE| kEE | ERE 8.5
3220 |HMPEnE| kEE | Ggor 7

3221 |sfreEmE| kEE | EEd 6.7
3222 |#tEmE| ek | Dk 74
3223 |HfremE| kEE | EHEH 7.5
3224 | HPHEnE| kg | ik 4

3225 |HPEnE| kEE | OfEsr 3.9
3226 |HAHEE| kEE | OEE 4.3
3227 |HtEnE| ke | B EE 0.5
3228 |HtfHEmE| kEm | Hogk 7.8
3229 |sfteEmE| ke | L% 6

3230 |4 fremE| KEE | Hua 3.9
3231 |4 fHEmE| kEE | HE%RS 6.7
3232 |[HPEE| kEE | HE /

3233 |4 ftimE| kEE | e 39
3234 |HfteEmE| kx| YE 0.5
3235 |HfHEE| kEE | OffiE /

3236 |HAHEE| kEE | O E 4.5
3237 |4t ftEmE| kEm | B 1.6
3238 | HfHENE| kEE | OE%E /

3239 |AtfremE| keE | HEKGE 0.6
3240 |4 fremE| keE | H4kE 3.9
3241 |4 fremE| ke | 5o 9

3242 | HtiteEmE | kEm | Hgkik 3.9
3243 |HPEE| kEE | B2EAE 4.5
3244  |[HPHENE| kg | D4k 6.5
3245 |HPENE| kEE | EmE 4.7
3246 |4 fremE| kx| 4% 6.1




3247 |#tEnE| ek | EkiE /
3248 |MftiEmE| kEE | BER 9.7
3249 [HPEE| kEE | EEi 6.9
3250 [#t9HEmE| kEmE | BOfF 6.8
3251 [HfHEmE| xan | 22% 4.2
3252 |MfEE| x| gk 3.2
3253 [HtfHEmE| xEn | EEE 3.9
3254 |HfHEmE| kEE | NS 33
3255 |HtEE| kEk | GRS /
3256 [HAEE| kEn | BEE 3.9
3257 | MfHEE | kEE | BT 4.3
3258 |HPHENE| KEE | OOLE /
3259 |HAEnE| kEE | EPRIT 7
3260 |4tSHeEmE| ke | HAE 3.9
3261 [HfEmE| xEm | EDkg 5.2
3262 | fHeErE | kEE | EPDkE 39
3263 [HtfHEE| xEm | kR 2
3264 |HfremE| kEE | B 0.6
3265 |MfHEE| kEE | BT 2.6
3266 [HfHEE| xEE | 5Hxs 13
3267 |HtiEnE| ki | B 3
3268 |4 fremE| ke | A4k 6
3269 |4 ftiEmE| ke | AkE 2.5
3270 [#t5rEmE| kEE | il 2.9
3271 |sfreEmE| kEE | iR 35
3272 |HtEnE| ke | Mk /
3273 |4 fteEmE | kEE | IS 2
3274 |HpEE| cEE | 4B 3
3275 | HHEmE| kEmE | R 2.8
3276 |4 friEmE| kg | XEsE 2.6
3277 | HtiEnE| ke | g 44
3278 |4 ftiEmE| kg | 4k 4
3279 |[HPEE| kEE | 4B 39
3280 [4t#HemE | kEmE | BRI 0
3281 |4 ftimE| kg | 4R 2.7
3282 | 4tfreEmE| ke | ARERI 2.5
3283 |4 fremE| kEE | 4HRE 2.5
3284  |HPHENE| kEE | AHERED 3.5
3285 [ 4t7temE | kiEmE | AR 6
3286 |HfHENE| KEE | ER 4
3287 |4treEmE| ke | ERAEAL 4.2
3288 |4 ftemE| kEE | ARE 35
3289 |HAHEE| kEE | XEE 3
3290 |#tfHEnE| kEE | MOOGE 4.6
3291 [HfHEmE| xEm | ks 4.6
3292 |HtEE| kEE | BEER 0
3293 |HPHENE| KEE | kA 4.5
3294 |4 fremE| kEE | 4R E 4.8
3295 [#titemE| kEm | Ak 1.2
3296 [HfHEE| xEm | e 3
3297 |HtiEnE| ke | 4% 0.8
3298 |Hft#mE| kx| FLALE 4.6
3299 | fremE| KEpE | XES 4.2
3300 [4t5remE | kEmE | e 6.2
3301 |4 freEmE| kg | Bade 4.7
3302 | HfHeErE | kEE | XA 1.5
3303 |4 ftimE| kg | EE 1
3304 |4 friEmE| ks | Ak 4




3305 [4t9HeEmE | kEmE | XSk 4.5
3306 |4 fHiEmE| kEE | XEAE 2.5
3307 [HAEE| kEE | kel 2

3308 [4t7HemE | kiEmE | Akphdk 34
3309 [HAEmE| kEm | Mt 3

3310 [4tiEmE| kEE | e 3

3311 |4 freEmE | KeE | dREE 2

3312 |4 fremE | kEE | 4E4kLEp 2.7
3313 [#t5HEmE | kEm | XE 3

3314 |4 fHEmE| kEE | i 1.5
3315 |[4tEmE| ke | e 2.5
3316 |4 ftiEmE| kg | A4E 1

3317 |4 fremE | kEE | A4S 2.5
3318 |4tfHemE| kiEm | B 9.1
3319 [HfHEmE| xEE | &2 H 6

3320 |HfHEE | kEE | 2oL 7.8
3321 [HfHEE] xEm | B R 6.2
3322 |4 ftiEmE| kEE | B2 E 4.2
3323 [#titEnE| kEE | 2 5.2
3324 |[HfAEE|] xEE | 4R 6

3325 |#tiEnE| ke | kA 2.6
3326 |[HfAEE| xEn | AEE 1.2
3327 |4 fremE | kEE | &2l 2.5
3328 [4tfEnE| ker | BAEE 7.3
3329 [HfEmE| xEm | ok 5.2
3330 [HEmE| kEn | B 6.5
3331 |4 fteEmE| ks | AR 6

3332 |HfHEE| KEE | 2R 3

3333 |4tfteEmE| ke | 2.5
3334 |4 freEmE | kEE | 4K 7.8
3335 | fHErE | kEE | 2L 52
3336 [HfHEmE| kiEE | &2 E 5.2
3337 |4 freEmE | kEE | &) 5.2
3338 |4titemE| ke | B 2.6
3339 |HpEE| kEE | B2 1

3340 [#HEE| kEm | BKA o.2
3341 |4 fEmE| kEE | BAEE 3.9
3342 |HPEE| kEE | 2440 1.3
3343 [HFEE|] xEn | A 5.2
3344 |4 frEmE | kEE | K 5.2
3345 | HfHEE| kEE | RS 2.6
3346 |HfHEmE| xan | 4AEE 7.8
3347 |4 freEmE| kx| AEE 4.5
3348 |4titemE| kEm | EEE 3.9
3349 [HfHEmE| xEE | &2 5.2
3350 |[4tireEmE| kEE | kAR )

3351 |4t fremE| KEE | 2 AE o

3352 [HtfAEmE| kEm | HRE 2.6
3353 |4tfteEmE| ke | e 3

3354 |4 fremE| kEE | %24 35
3355 | fHEE | kEAE | s 3

3356 |HAHEE| kEE | B 4.1
3357 |4 ftemE| kEE | BER 4.2
3358 [4tfeEmE| kEpE | xjEsk 2.8
3359 |4 ftimE| kEE | kEEE 9.2
3360 |4t7HeEmE| kEmE | ik 7.8
3361 |4 fremE| ke | FLEEE 1.4
3362 |HfrtmE| kx| BMEE 1.8




3363 [4t5HEmE | kEm | 2k 4.7
3364 [HfAEE] kEm | BN 4.2
3365 |4 friEmE| kEE | MEs 16.8
3366 |[HiEE| kpk | B S 4

3367 |HPEE|] kg | M /

3368 [4tiHmE| kiEmE | ZME 0.6
3369 [HtfFEnE| xEm | #igk 5.6
3370 |[HAEE| kEE | EBKAE 34
3371 |4HEnE| kEE | XfES 4

3372 | HfHEmE| kEm | G 6.3
3373 |#HEE| kEE | e 0.2
3374 |HfHEmE|] xEE | 351 8

3375 |4 ftEmE| ke | #di 2.7
3376 |4tfHEnE| kEE | BmE 3.5
3377 |[HPEE| kg | XEAL 0.4
3378 [#t5temE | kiEmE | XfEph 4.8
3379 |4 ftEmE| kEE | MR /

3380 |4t ftimE| kg | EANE 31
3381 [4fEnE| kEpE | JRKE 5.2
3382 |HfHEmE| xEn | ik 4.2
3383 |4tfHeEnE| KEpk | EiE A 6.5
3384 |[HtfHEmE| xEn | XIZEKE 4.2
3385 |4 fr#mE| kEE | EKS 7.6
3386 | 4t7HiE| kEE | MIEE 7.9
3387 [HfEmE| xEm | BNE 8.2
3388 [4tyreEmE| kEpE | B 8.4
3389 |4 fremE| KEE | RMAE 5.6
3390 |4 fremE| KEE | MiEME 8.4
3391  |[HtreEnE| ke | gkAESE 1.5
3392 |#ftmE| kEE | FHE- 14

3393 [4tireEmE| ke | Bt 8.6
3394 |4 fremE| KEE | BE o 5.2
3395 [HfHEmE| kEn | xEZK 4.2
3396 | 4tsHeEmE | ke | FLEEER 8

3397 |HfHEE| kxEE | MEsE 112
3398 |HfHEmE| kg | EEM 1.7
3399 |[HftiEmE| kg | kRE 6.5
3400 |[#fHEmE| kEE | MEE 3.5
3401 [#t5rEmE| kEm | kRE 3.8
3402 [HAEE| xEE | BEy 5.6
3403 | HfHEE | kEE | MIEST 8.5
3404 [HAEE| xEE | XHER 5.6
3405 |4 fHeEmE| kx| MER 74
3406 | 4t7HEnE| kEE | AR 4.8
3407 |[HFHEE|] xEE | MRS 4.2
3408 [HFEE|] kEm | kRS /

3400 [HfHEE| xEE | K 5.6
3410 [Hf4EmE| xEn | ZMEHE 4.2
3411 |4 EnE| ker | BhE 4.2
3412 [HfHEmE] xEE | #dE 3

3413 |[4#tEnE| ke | st 4

3414 |4t FEnE| kan | EEE 2.8
3415 [HfHEE| xEE | mEA 1.2
3416 |#tiHEnE| kEm | A 39
3417 [ #t9rEnE | kEE | FLLE 44
3418 |#iHEE| kEE | MRS 10.8
3419 | HAEnE| kEE | @miEF S

3420 |HAEnE| ke | EEs 6




3421  |4tEnE| ke | ERA /
3422 | HtfHEmE| xEn | #EE 5.8
3423 | HfHEE| KEE | Al 4
3424 | HiHEnE | kEm | ARk 3
3425 |[HfHEmE| xEm | fLhE 4.2
3426 [HEE | KEE | MiEd 3.2
3427 |HPEnE| kEE | FJLALE S
3428 | HfHEE| KEE | BmER 4
3429  [#tirEmE| kEm | LR 4.7
3430 |4 fremE| ke | FLLE 35
3431 |[#tEnE| ek | K AY 44
3432 |4 fteEmE| kx| fLLE 4.7
3433 |4fHEnE| KEE BE 2.6
3434 |HfAEE| kg | BEET 53
3435 | HAHENE| KEE | LN 4
3436 |[4trEmE| ke | fLRE 4
3437 |4 fteEmE | kEE | FLEEE 2.7
3438 |4 ftEmE| kEE | MlEs 0.3
3439 |#fEE| keE | BiE 33
3440 |4 fremE| kg | FLUR 8
3441 |$tAEnE| ke | AUULE 74
3442 | HfHEmE| kEE L 6.6
3443 |HPHERE| KEE | T 8
3444 [HFEE] rEn | JULE 8
3445 [HfHEE| xEE | LA 3.2
3446 | HtArEnE | ke | AU 4.5
3447 |4 fteEmE| KEE | FEE 8
3448 | HPHENE| kEE | JLUKER S
3449 [ #t9rEmE| kEm | BXE 6.1
3450 |[HfHEmE| kEE | Bk 3.8
3451 [ #9HEnE| kEE | mIER 1.3
3452 | HfremE | KEE %ﬂ% ya| 8
3453 |4 ftEmE| kEE | 5EF 5.2
3454 [ HtitEmE| kEE | 5EA 3.5
3455 |4 ftemE| kEE | BmAE 6.5
3456 |[4tEnE| ke | MIES 6.2
3457 |4 ftEnE| kEE | HuE 4.8
3458 |4 fremE| kEE | MEE 3.5
3459 [ #irEE| kEE | BIES 3.7
3460 [Htf3EmE| xEm | fLLEE 0.3
3461  |[4tEnE| ke | MIERE 7.5
3462 |4 fteEmE| kEE | EEE 4
3463 |4 fHimE| KEE | MEaR 0.3
3464 | 4titnE| kEm | el 3
3465 |HfHEmE| KEE | HUuE 9
3466 | MAHEE | KEE | MEEST 9
3467 |4 fHEmE| kg | FLALID 3.3
3468 |4 fremE| kEE | MR 9.2
3469  [HtAEE| ek | FILR 11
3470 |4 frEmE| KEE fLAH 7.1
3471 | HtEnE| kx| EEEE 2.3
3472 |[HPEE| kEE | mEA S
3473 |4 frEnE| kx| TEE 9
3474 | HEE| kEE | TA 6.5
3475 | HAENE| KERE | XIMET 4
3476 | 4HfHEnE| KEE E‘Lﬁéﬁk 2
3477 | HPEE| kg | gE%E 4
3478 |HAHENE| kg | XA 1




3479 | HtHAEnE| ke | Rk 9.5
3480 |4 fremE| Kk | FLEZE 6.6
3481 |4 fremE| kEE | FLLER 3.5
3482 |HtAEnE| ek | DgkA 44
3483 [HtfAEmE| xEm | HyEN 3.3
3484  |4tFreEmE| ke | FLgks 33
3485 |4 fH#EmE| kg | fLikid 2
3486 |4 ftimE | KEE | REAE 4.7
3487 |HtHAEnE| Kk | BUER S
3488 |4 frimE| kg | BIEID 6
3489 |[4tireEmE| kEE | FLJLE /
3490 [HPHENE| kg | RgkE 1
3491 [HfEmE| kEn | REE 4.2
3492  |4titEmE| ke | TR 6.5
3493 |4 frEmE| kEE | RIEW 4
3494  |HtEnE| ek | FIlE 6
3495 |HPHENE| kg | i 1.7
3496 [ HtfHEE| xEn | LG 10
3497 |4t fEnE| keE | oo 8.6
3498 |HfHEE| kg | g 4
3499 |HfHENE| kg | ERM 6
3500 [HfAEmE| xEm | fJLEE 2
3501 [Hf3EmE| kEn | MRER 2.2
3502 |#HEE| kEEk | gER 2.5
3503 |4 ftimE| kg | A 35
3504 |#tireEmE| ket | FLEE 1.9
3505 |[HPENE| kEE | DO 13
3506 |4 fremE| ke | FLLE 0.7
3507 | HtArEmE| ke | g S
3508 |HAENE| KEE | FIOL 6
3509 |HtAreEnE| kEk | I EAM 3
3510 |4t fremE| keE | FLJLBH )
3511 |[HfrEmE| kEE | iR )
3512 |4 fEE| keE | U5 E 6.6
3513 |[HPEE| kEE | g% 2
3514 |HtEnE| kEE | BEEE 3
3515 [#iHEmE| kEE | 5 44
3516 |4 frimE| kx| FLALSE 6.1
3517 |HtHAEmE| ke | kv g /
3518 |HfEE| kEE | mEaT 2.2
3519 |#tiEnE| ke | g 33
3520 |MftemE| kx| mEE 3.3
3521 |HMAEnE| kEE | 4% 3.3
3522 [HfEnE| kEpE | FLL 2
3523 |HAHEE| kEE | EkFR 5
3524  |#treEmE| ke | FLEED 4.6
3525 [HPHEnE| kEE | FLALSH 1
3526 | HAHEE| kEE | KEE /
3527  [#titeEmE| kEm | FLJLIRE 6
3528 |HtfHEmE| xEm | A 10
3529 [HH#EmE| kEn | FUEH 3
3530 |[HftimE| kEE | BEHT 9.5
3531 |HfHEE| kEE | ks 4
3532 |4tfHeEmE| kEmE | kAR 3.5
3533 |[HfAEE| kEE | BEiE 1.8
3534 |4tireEmE| ke | Das 1.8
3535 |HfHEmE| xEn | B 2.2
3536 |HAHEnE| kEE | et E 3




3537 |4 fremE| ke | Gk 0.3
3538 |HfHENE| kEE | FEHE 9.9
3539 [HAHEE| kEE | A% 4
3540 |4t7HeEmE| kEmE | EEM 0
3541 |4t9HeEmE| kEmE | ESRIL 3
3542 |HPHEnE| Kk | FSEH 2.5
3543 |[HfHEmE| xEn | AEE 3
3544  |[HPHENE| KEE | RS /
3545 |4 fEnE| kEm | e 1.2
3546 |4 fHEmE| kEE | A4 1.5
3547  |[HPEE| kg | FSER 6
3548 |AfremE | kepE | Fapdk 6
3549 |HfreEmE| kEE | 4% 9
3550 |4tfteEmE| ke | TAS 4
3551 |4t fHeEnE| kEE | BEE 4
3552 |4t fremE | kEE | R RUE 3
3553 |[HftimE| kg | mEE 3
3554 [HtfHEmE| kEn | B4 3.2
3555 |4tfHeEnE| kEE | THE /
3556 |4 fremE| kEE | e 4
3557 |4ftimE| kEE | 22 3
3558 |HfHENE| kEE | FspE S
3559 |[HftimE| kEE | /AEA 4
3560 |HtAHeEmE| kEk | A 2
3561 |[HfHiEmE| kEE | AR 3
3562 |4t ftemE | kEE | TR 7.5
3563 |AtfHemE | KEE | ZEINI 2.4
3564 |4 ftimE| kg | Zge 4.5
3565 [HfEnE| kEx | BEE 6.6
3566 |[HfHimE| kEE | Fyse 6.5
3567 |AfreEmE| kEE | FARE 4
3568 |HftimE| kEE | Mk 4.5
3569 |[HPENE|[ KEE | Falak 2
3570 [#tiHEmE| kEE | ARG /
3571 |4 fHEnE| KEE B 35
3572 |4 ftiEmE| kEE | AiEE 3
3573 |4 freEmE | kEE | ZE )
3574 |4 freEmE| kEE | g BE )
3575 |HtEnE| ke | FoeE /
3576  |[HPHEE|] kEE | BEE 4
3577 | HAEnE| KEE | FOIL S
3578 |4 ftimE| kg | R 4.5
3579  |[HPEE| kEE | THE 8
3580 |[#tAHeEmE| kEk | RS 4
3581 |[HPENE| kEE | FE L 8
3582  |HAHEE| kEE | BT 6.5
3583 [HtfHEmE| kiEm | e 3
3584 [HtfHEE| kEi | i 10
3585 |4titimE| kEE | AfEA 6.5
3586 | HAHENE| KEE | T 4
3587 |HfHEmE| kg | FSEH 8
3588 [HfHEE| xiEE | mEMK 4.2
3589 |[HfH#mE| kEE | HEp )
3500 [4tfEnE| kEx | g 3
3591 |[HPENE| KEE | FSEK 4
3592 [HPEE| kg | BT 4
3593 |AtfremE | KEpE | RS o
3594 |MfrimE| kx| HHES 33




3595  |HfHEnE| kEE | 2K 2.5
3596  |[HAHEE| kg | FSEE 4
3597 [HpEE| kEE | K 5
3598 [4titimE| kEE | BEAY 2.5
3599 |[HftEmE| kEE | BEEE 35
3600 |HAENE| KEHE | 5 8
3601 |[HfHEmE| KEE | Mg /
3602 [HAHEE| kEE | FALE 4.5
3603 [#tAEmE| kEE | RN S
3604 |4 fremE| KEE | ik 6
3605 |[HPENE| kEE | {[EE 4
3606 [4tfHEnE| ke | KL 43
3607 [HfHEE| kEE | BEE 2
3608 [4t7HemE| kiEm | ek 3
3609 [HAHEE| kEE | B S
3610 [HfHEnE| kEE | FAERH 3.8
3611 |[HfreEmE| kg | fEE 34
3612 [HAHEE] kEE | R 1.5
3613 [4tSHeEnE| kEE | R E 3
3614 |[HPHENE| KEE | fAEE S
3615 |4 fr#EmE| KEE | R 0.3
3616 |4 fremE| kEE | FHEH 4.5
3617 [HAHENE| kEE | ik 2
3618 [4tf4EnE| keuE | fKE 4.3
3619 [HfAEmE| xEn | TAEE 4.8
3620 |4 freEmE| KEE | fERE 4
3621 [HAENE| kiEyE | ([P 3
3622 |4 ftEmE| kEE | A E 4
3623 | 4tfHeEmE| ke | g 9.5
3624 |4 fremE| kx| TAIE 3
3625 |HAHEE| kEE | FARE 3
3626 |[HfHEmE| kEE | FRR 6.5
3627  |[HAEE| kEE | KR 6.5
3628 |4titeEmE| ke | HHIEE 0.5
3629 |AfremE| KEE | R o
3630 |4 ftimE| kg | g )
3631 |4 fremE| ke | g 3
3632 |[HAHEE| kEE | AL S
3633 | 4tsHeEmE | kEmE | fEEE 34
3634 [HPEE] kEE | FOlE 5
3635 | HfHEnE| kEE | fAEE 4
3636 |HfHENE| KEE | FAEE 4
3637 |4 friEmE| kEE | BXs 2.5
3638 [ 4tFreEmE| ke | Afaed S
3639 [HfAEnE| xEE | it 6
3640 [HAHERE| kg | 2L 4
3641 |[HfHEmE| kg | ZytE 2.5
3642 |HAHERE| KEE | A 1.5
3643 |4tiHEnE| kEm | ZEER 3.3
3644  |[HPEE| kEE | BYEE 0.4
3645 [HfFEnE| ki | AR 2.3
3646 |HfHEmE| Kek | ZEEE 3
3647 |MfrEE| ke | ZEW 4.5
3648 |HfHEE| ket | BEA 2.5
3649 |[HFHEE] km e 1.6
3650 [HfAEE| ke | EER 1.3
3651 |[HfHimE| Ketk | ZEEH 1
3652 |4 fremE| ke | LE4S S




3653 [HFAERE] Kmitk | 20y 19
3654 |HfHimE| Kes | e 1

3655 [Ht/3HEnE| kEik | 2 34
3656 |4 fHemE| Ketk | ZFEE 4.7
3657 |4 freEmE| Kbk | 25| 6

3658 |HftimE| ket | ZEE 4

3659 |HfHimE| ket | ZLE 4

3660 [HAANE| keth | EEE 2.8
3661 |HfHEmE| ket | ZEFEIM 4.7
3662 |HAHEE| ke | FAE 14
3663 |4 frimE| Kmtk | KEE 11
3664 |4 fHiEmE | Kmbs | aKiEEE 3.2
3665 |4 frimE| Kek | ZEAE 4.8
3666 |HfFEE| kmi | TEAL 2.6
3667 |HfreEmE| Kewk | SCEE 5

3668 | 4tFHimiE | ki ESE 15
3669 |[HFHERE| ki | TR 3.8
3670 |HftimE| ke | FEE= 2.7
3671 |4 frEmE| ke | ke 2.1
3672 |[HAHEE| ke | Xk 3.1
3673 [HAHENE| kemtp | 2R 18
3674 |[HSFEE| ki = 0.8
3675 |HAENE] kEir | F & 1.2
3676 [HSEE| kEihE ZEAT 11
3677 |HfHEnE| Kek | BAEE 3.6
3678 |4 ftiEnE| Ketk | ZEK 1

3679 [HMEE] ket | FEE 3.1
3680 |HfHEE| kan | A 14
3681 [HtfHEE| ke | EENE 0.7
3682 |HMHEE| Ktk i 2.7
3683 |4 frimE| ket | 5 1.6
3684 |HfAfEnE| ke | ZiER 2.9
3685 |MANHENE| kemth | #iE 2

3686 |HfrimE| ket | ZERE 3.5
3687 |AfrimE| Kmtk | 2R 24
3688 |4 fremE| Ktk | ZEFiE 4

3689 |HfHimE| ket | ZFEIE 4.5
3690 [HtfHEmE| ke | ERROR l.7
3691 |[HfHiEmE| ke | e 5.7
3692 |HfHimE| ke | ZEEH 5.7
3693 [HfHEnE| kam | xS 6.1
3694 |4 freEmE| Kewk | Ayt 5.3
3695 |HfHemE| ket | 2L /

3696  |HAHENE| kawm | it 6.1
3697 |HftimE| Kek | TS 4.1
3698 |[Hf3EnE| kEik | B 4.6
3699 [HSHEE| kEihk $?Eﬁlz 0.4
3700 |HFAEE|] ke | &R 5.6
3701 [Hf3EE| ki m?ﬁ 6.5
3702 |4 freEmE | Katk | ZIEM 7.1
3703 |[HfAEE| kEiE | BEEA 9.8
3704 |4 ftEmE| ke | ik 3.9
3705 |4 fremE| Kewk | 2k 4.1
3706 |4 fremE | Ktk | ZSAEED 4.3
3707 |4 friEnE| ke | A 2.6
3708 |HfHEE| ke | Bl 3

3709 |4 fHemE| Ketk | ZEF) 2.5
3710 |#fremE| kawk | ZEEW 4.1




3711 [HfHEE] kan | ZEEE 4.3
3712 |4 ftiEmE| kel | R 6.5
3713 [H3EnE| kEE | B 6.2
3714 |MfrEmE| Kek | ZEE 5.8
3715 |4 freEmE| Ktk | 2y 2.7
3716 [HfHEE| kan | Rk 3.6
3717 |4 ftEnE| kel | I 3.8
3718 |4 frmE| ke | ZEH 6

3719 |4 frEmE| Ketk | ZEN 9.3
3720 [HFEE] k3 B 0.6
3721 |Hf3EnE| kel | R 3.7
3722 |4 ftiEmE| ke | ZEEMR 4.9
3723 |4 ftEmE| kel | ZEE 7.3
3724 | MfreEmE| Ketk | BfpE 6.5
3725 |HfrEmE| kek | ZFEH 4.7
3726 |HfHEE| ke | ZEK 2.8
3727 |HPEE| kan | B 2.8
3728 |HfEmE| ke | BEE 5.3
3729 |4 ftEmE| kel | ZEH S

3730 |4 fremE| Kews | fLEEE 1

3731 |4 ftiEmE| kewk | TEZ 2.7
3732 |4 rEnE] Kb ERK 3.3
3733 |[HfAEE| kEiE | Bk 3.5
3734 |4 frEmE| Kek | THEF 4.4
3735 [HFEE] xx ESI 3

3736 |4 frEnE| Kawk | XIHB2 S

3737 |MftEmE| ke | TEE 2

3738 | Hf3EnE| ke | B 1.6
3739 |HfrEmE| ke | e 1.8
3740 |4 frmE| Kek | S 3.6
3741 | HMPENE| kaitr | gL 4

3742 |4 ftEmE| Ketk | ZEE 2.8
3743 |Hf3EE| ke | B 5.2
3744 |HfHEmE| kel | TR [.7
3745 |4 ftiEnE | Kes | 2 2.9
3746 |Hf3EnE| kEig | g 24
3747 | HfHEmE | Ketk | 2N 2.9
3748 |4 ftEnE| ke | ZEE 11
3749 |HfHEmE| kek | ZEW 4.8
3750 [HFEE] xm 2% T 4.1
3751 |[HfAEE| kew | B2EE 5.2
3752 |4 ftiEmE | Kes | ¥ 3.5
3753 |4 ftEmE| Kek | ZEEE o.1
3754 |4 ftEmE| ke | ARE 6.7
3755 |4 ftiEnE | Kek | ZERE 2.9
3756 |HfHEE] kel | 4% 4.2
3757 |4 fteEmE | Kebs | MERkik 6.1
3758 |HprEmE| kmEith | AT 6.1
3759 |HftEmE| kel | BEE 4.1
3760 |4 fremE| Kewk | ZEiE 34
3761 [HfHEE| kaw | ZEEEk 6.5
3762 | H7HEnE| kb 2R IR 2.8
3763 |HfHEE| kan | Bk 2.2
3764 |4 fHEmE| Kek | g /.8
3765 [HFEE] xx ZEK 5.1
3766 |HfHEmE| ke | EHEE 4.3
3767 [HFHEE] xah | TER 55
3768 [Htf3EnE| keik | TEZ 4.3




3769 |H e = Z
3770 f-iéﬁé i;g %7"35‘)” 51
3771 |HFEE jfgﬁr %ji‘f& %)
3772 | MFHEE | KEik 7'3517% i
3773 [4tfHErE| KEik %F';; :
3774 | MFHEE | Kak 7"1%’\ 23
3775 [4tf ErE| KEk Eﬂ 2 ¥
3776 [4tF EIE|  KEk 7"%5 il
3777 [ F HEIE | KEE i‘%% 5
3778 [HPEE] ik | Al -
3779 |[4tf HEIE| ke %%Xi 73
3780 || Lmh | 2E K ;
3781 |MFHEE | Kak 7'%%;5\ =5
3782 |MFHEE | Kaik %ﬁ* 3
3783  [4tf ErE| KEik g &Hﬁg o5
3784 |HFHHEE j(iﬁf > ﬁLZ %
3785 |[HAHERE jt%a% %ﬁ%‘?ﬁ 3
3786  [4tf ErE| ke *157\ i1
3787  |[4tf EIE| KEE j'z”é;’ﬁ 5
3788 |[4tf EriE| KEik %%% :
3789 |MSHEE | Kaik 7"@5“ ynd
3790 [4tf EriE|  KEik %E% 5T
3791 (M ENE| Kk ?,HL Jish 3
3792  [4tf ErE| KEk %—'E% 3
3793  |MSHEE | Kaik $%£ 23
3794  [4tf HErE|  KEk Hiﬂf%” 59
3795 [4tfHErE| KEik Eﬁ%}}f 5
3796 |HfEE| ke | ZHEE ;
79T RS hn | = it %
3798 [4tfHErE| KEik *% il 7
3799 [4tfHErIE| KEk %E% 59
3800 [4tf EriE| KEik W%‘f‘r W ¥
3801 [4tfHErE|  KEk ij{ 25
3802 [4tfHErE|  KEk g_(ﬂ! 4
3803 [4tfHEriE| KEik ‘%%g ;
3804 [4tfHErE|  KEh %a"/ﬁﬂﬁ 5
3805 |HFHEE| ke | ZEmR 5
3806 [4tfHErE|  KEk i°ﬁ°A X
3807  [4tfHErIE|  KEk f/ﬂﬁg ¥
3808 |[HFHHEE ﬁ;% I;PSEH o
3809 [4tfHErE|  KEik ﬁﬁf‘k 5
3810 [4tfH#EriE| KEk %35 s T
3811 [4tf #ErE| KEk HEUFED =3
3812 |HAEE| ke | ZHE 57
3813 [4tfHEriE| KEik *HE%T* 37
3814 [4tf HErE| KEk %%ﬂ% 3
3815 [HAEE] onh [ =
3816 | M EE| Amih | 2km -
3817  [4tfHErE| KEk Al 5
3818 |[HFHEE jzgﬁr mﬁﬂi 53
3819 [4tfHErE| KEk j';i 5 X
3820 [4tfHEriE| KEik %%Z =
3821 |MFHEE | Keik *‘i -
3822 [4tfHErIE|  KEk j‘;;ﬁ 35
3823 [4tfHErE| KEik {i o =
3824 [4tfHErE| KEh sc%lJﬂ%i =
3825 [4tf ErE| KEik rlﬁ% T %
3826 [4tfHErE|  KEk g ‘j{ 52
= AEM 5.5




3827 |HAHE = 7z

3828 | HAHE igg iiﬂ%ﬁ X
3829 [#tfHemE| kEin ii 7 5
3830 |HFHEIE| KEik f.i;% =
3831 |HFHEIE| KEik E% = >
3832 | HFHEIE | Kk 77‘“% 25
3833 | HFHEIE | KEik i{% E :
3834 | HFHEIE | K j';%f{i L ;
3835 |HFHEE| Kk j‘% 5 3
3836 | HFAHEE jt% > gﬁc% 5
3837 | HFHEIE| Kk j';l%—“* 33
3838 | HFHEIE | KEih £ 1% =
3839 |HFHEIE| K i%ﬁ :
3840 |HFHENE| K&k = R >
3841 | HFHEE| KEik jl‘\é% =
3842 | HFHEIE | Kk 3'5%%2 2
3843 | HFHEIE | Kk > fﬂi e
3844 | HFHEE | K ilﬂ— 37
3845 | HFHEIE | KEk iigg 2
3846 | HFHENE| KEik iﬂljiﬁ =
3847 | HFHEIE | Kk j';“ x =
3848 | HFHEIE[ KEh @i :
3849 | HFHEIE | K %g = 52
3850 |HFHEE| KEin = ET 37
3851 |[HtiHEnE| ke ijé +5
3852 |HFHEIE | K iﬂﬂi Fe
3853 |HFHEIE | KEik ii 35| 7a
3854 |HFHEnE| KEik iﬁ% X £
3855 |HFHEIE | KEi ;‘;EQELJ 39
3856 | HFHEE | KEik i*% i
3857 | 4tfHimE | kEif %iﬁ Za -
3858 |HFHEIE | KEik 7"%“% 5
3859 |HFHEE | K i}_l\ﬁ 1
3860 |HFHEIE| Kk iﬁi :
3861 |HFHEnE| KEik iﬂi% £
3862 |HFHEIE | K gﬂ‘; 23
3863 | HFHEE[ KEh ;J% = 79
3864 | HFHEIE | K 7:«[1,?4 7
3865 |HFHENE| KEik j‘f 55
3866 | HFAHEE ﬁg‘ iﬂi 5
3867 | HFHEIE | K i{ﬁ% X
3868 |HFHEE | KEik i/%é 3
3869  |HFHEIE | K E%ET 25
3870 |HFHENE| K&k iﬁ';* o
7L AR o [T >
3872 |MfHEE| ke | A 2@ ¥
3873 | HFHENE| KEk ﬂéﬁ 35
3874 | HFHEE | KEn ;';%Fi % 55
3875 | HFHEIE | KEk j‘ﬂé?ﬁ; 5
3876 | HFHENE| KEik iﬂéﬂ% :
3877 | HFHEE | Kk E3n ; 33
3878 |[4tFHENE| K&k i?ﬂgir =
3879 | HFHEIE | K %57‘5 3
3880 |HFHEIE| KEik 7"]635; 5
3881 |HFHEIE| KEik iﬂzm n
3882 | HFHEIE | Kk :ﬁﬂé% 5
3883 [HLAGTE] Jif EL g'g
3884 |HAENE| kmtr | BZFEE 3




3885 |4 ftimE| Ktk | FlRub 3

3886 |4 ftimE| Kmbk | KEH 2.1
3887 [HHEE] ke | =5 1.8
3888 |[4tftEnE| Amk LBk 4

3889 |AtfremE| Kmtk | COiEE 4.5
3890 |AtftremE| Ketk | i .9
3891 |[HftimE| Kek | ZERE 4.2
3892 [HFEE] ke | Ml 39
3893 [HFEE| kEik FIJ;M’\ 3.8
3894 |HfrimE| Kes | AR 4.3
3895 |HAHENE| kan | T 4.2
3896 |HftimE| Kek | ZER 0.6
3897 [HtfHEmE| keEik | SRR 3

3898 |4t frimE| Kmbk | P 5.7
3899 |HfremE| Ketk | MiEE 0.4
3900 [HfHEmE| kaw | ERE 3.2
3901 |AtfremE | Kebs | PReHE 24
3902 |HAHENE| kanm | i 2

3903 |4 fHimE| Kebs | Jriks 34
3904 |4 freEmE | Kes | Mk 2.2
3905 [Htf3EnE| ke | 2.4
3906 |4 fremE| Ketk | T 6.4
3907 [HfHEmE| ke | ERE 2.2
3908 |4 fremE| Katk | ZEXUE 3.6
3909 |4 frimE| Kmbs | ESEE 4.2
3910 [Hf3EnE| keig | s 6

3911 |[HfHeEmE| Kek | MR X 4.1
3912 [HfHEmE| ke | skEk 4.5
3913 |4 ftemE | Kebs | SRR 4.5
3914 |4 fremE| Kewk | MR E 4.2
3915 |4 fHiEmE| ke | xE22 4.7
3916 [HfAEE| kEik | A 5.1
3917 [Htf3EmE| ke | EEUA 3.5
3918 |4 ftimE| Kek | ME 24
3919 |4 fremE| Ktk | YU 3.2
3920 [HfAEnE| ke | R 3.3
3921 |4 freEmE| Ketk | ZEM 2

3922 |HAHENE| ke | ™MEIL 2.6
3923 |AfreEmE| Kewk | MR 4

3924 |MfHnE| kek | ASE 0.8
3925 [HfHEE| kaw | ERE 3.5
3926 |HfHemE| Ketk | CRE 5.5
3927 |HfHEE| ke | BEEH 8.5
3928 |HftiEmE| Kebk | CERE 7.3
3929 |4 frimE| Kebs | REZ 4.7
3930 [HfAEmE| ke | R 9

3931 |[HfHiEmE| Kes | EE /.1
3932 |HM#EE| kmtk | A 3.4
3933 |4 fHEmE| Kews | FET 0.9
3934 |4 frimE | Kebs | MRS 4.4
3935 [HfHEE| kan | e 4.2
3936 |4 fHeEmE | Kmbs | s 3.5
3937 [HtfHEmE | kEik | EIRAE 2.6
3938 |4 fremE | Katk | ZREs 2.3
3939 |4 fremE| Kewk | AEN 6.5
3940 [HfHEmE| ke | R 2.6
3941 |[HfHEmE| ke | MR 5.5
3942 [HPHEE| kawnm | E4 4.8




3943 [HfHEnE| ki | kit E 0.4
3944 |4 freEmE | Ketk | HER 7.3
3945 [HFEE] ke | o= 5.6
3946 |4 freEmE | Kebs | o 3.3
3947 |MFEE] Ktk | =Rt 0.8
3948  |[HfHEE| kEi | EES 6.5
3949 [HfHEmE| ka | kgE 24
3950 [Htf3EmE| kEE | EELA 0.9
3951 |HfteEmE| Kbk | MERAC 1.5
3952 |MfrimE| Kebs | MR 3.5
3953 |4 ftimE| Kebs | ke 4.4
3954 |HfreEmE | Ketk | MRS 3

3955 [HtfHEmE| ke | EEH 24
3956 |4 friEmE | Kebs | CRIE 14
3957 |#AHEmE| ke | ATEl 4.3
3958 [HtfHEmE| kEik | RN 2.7
3959 |AfremE| Ktk | HHE 0.7
3960 [4tfHEnE| ke | T 16
3961 [HtFHEE| kel | B 4.5
3962 |4 fremE | Ketk | C4HE 5.1
3963 |HAIHNE] KEtr | R 16
3964 |MAENE| ketf | ™A 4.2
3965 [HAHENE| kemtp | MK 3

3966 |AfremE| Kewe | A 1.5
3967 |AfremE | Kmbs | MEEE 0.6
3968 |AtfremE| Ktk | EUE 4.1
3969 |4 ftemE | Kmbs | kR 0.3
3970 [HtfHEmE| keis | SR 34
3971 |4 fremE | Kewk | ERoridt 6

3972 |HtfHEmE| ke | EE s 3

3973 [ Hf3EnE| keEik | SR 2.1
3974 |4 fremE | Ktk | ERs) 0.6
3975 |HAHENE| kan | SR 1.2
3976 | HfHEnE| ki | FEE 4.1
3977 |4 ftiEmE | Kebk | ZRkE 4.1
3978  |AtfremE | Ketk | ERaEyE 4.1
3979 [HtfHEE| ke | ZRHEnl 4.6
3980 [HtfHEmE| kEik | ZRaOs 3.9
3981 |HftimE| Kebs | DA 4.7
3982 [HFEE] Lok gLk 4.2
3983 [HtfHEnE| ka | ZHnE 4.5
3984 |HftimE| Kebk | Mg E 1.8
3985 |HftimE| kek | 55~ 5.3
3986 |4 ftiEmE| Kmtk | FEEID 3

3987 |4 fremE| Ktk | BET .6
3988 [HFEnE| ke | BRE 6.8
3989 |HftimE| Kebk | AEI 4.2
3990 |4t fremE| Ktk | EAgE .7
3991 |AfremE| Ktk | ERa 8

3992 |4 frimE | Kebk | EREAE .9
3993 |HfHEE| ke | e 5.4
3994 [HPHENE| kan | ZETAE 54
3995 |HMHENE| kan | FHEA 3.3
3996 |[HfHEE| kan | % 6

3997 |4 frimE| Kebk | XIEKE 4.2
3998 [HtfFHEmE| ke | ok 34
3999 | fremE| Ktk | XIRGE 7.5
4000 |HtFHEmE] ke | ep 8




4001 |HFHEE] K | JdEsE 2.7
4002 | HtFHEE ] ka | ZEE 4

4003 [HAHENE ]| kEbs | ER0 X 4.5
4004 [HAHEDE | kEE | EREE 2.8
4005 [HMEE| ke | SEEIL 3.4
4006 |HtFHEE ] Kan | SRR 3.9
4007 [3t7HdnE | ke | SpER 2.9
4008 [HAEE] ke [ e 4.8
4009 [HAHENE| kEitE | BKELR 5.3
4010 [HAHEnE| ke | 240t 4

4011 |HFHEnE] ke | stk 3

4012 [HAHEnE| ke | AEs 1.5
4013 |HfHEnE| ke | B 2

4014 [HAHERE| ke | ST /

4015 [HAHENE| kEiE | SRR 9.1
4016 | HFHEE] ke | SRR 8.1
4017 [HAHEnE | kKEbs | By 6.6
4018 |#tFHEE| Kan | SR 6.8
4019 |HtFHEmE | K | 2R 5.1
4020 [HMHEnE| ke | ST 6.6
4021 |HFHEnE] ke | sk 11.7
4022 |[HAHEnE| ke | U EE 4.5
4023 | HFHEnE ] ka | Rt 9

4024 [ HAHEE| ke | XIEE 8.7
4025 |[HAHEE| ke | EEE 4

4026 | HAHENE | kKEbE | EE R 4

4027 [HAHEE | kEiE | SRR 3.8
4028 |HtFHEnE | kawn | gk 7.6
4029 [HAHENE | kEiE | XI5 6.4
4030 |[HAHEnE | kEiE | HEHER S

4031 [HFEE] kmn | smie 3.6
4032 [HAHEnE | keE | R ER 34
4033 [HAHEE| kEitE | SRR 4
4034 |HFEE] Kan | A 4.2
4035 |[HAHEnE | ke | mangs 8.8
4036 |HFHEnE | kan | e 1.8
4037 | HpHEnE| ke | Tk 3.2
4038 [HAEE] kmn [ JLF%E 5.8
4039 |[HAHEE| ke | e 74
4040 [H7HEnE| ke | Zp 0.8
4041 |HFHEE] ke | SR E) 7.5
4042 [HAHEE| kEiE | PEA 2.5
4043 |HFHEE] K | SEh 0.5
4044 [HFHENE] Ktk Fzy%ﬂ“ 2.9
4045 | HFHEE ] ke | s 5.5
4046 | HFHEE ] Kaw | Ik 6.5
4047 | HAHENE | KEiE | RO 4.5
4048  [HPHEE| ket | ZE04T 7.4
4049 |HtFHEE] Aan | SRERR 3.9
4050 [HfHEnE| ke | T&ZE 6.4
4051 |HFHEnE] ke | RS 111
4052 |3 FHEnE| kmik | 2SS 3.8
4053 [HEE] kmin | S 4.3
4054 |HFHEE] kaw | 22 3

4055 |HMAPENE| Ktk | FIREE 8.8
4056 |HAMHERE | AKeth | X% 4.3
4057 | HAHEnE| ke | RaE 3.1
4058 |4tFHEE] Kam | Bark 4.2




4059 [HAHEE| kEE | ZKES 4.1
4060 [HAHENE| kEitE | EE 4

4061 |HFHEE] Kan | REKE 1.6
4062 |4tFHEE|] Kan | 2KS 0.6
4063 [HAHENE| kEiE | St 3

4064 |HFHEE] Kan | ZKH 5.6
4065  |[HAHEnE| kEE | FEIR 0.4
4066 | HtFHEE| K | B 1./
4067  |[HAHEE| kEE | 2EKR 3.9
4068 |[HAHENE| keE | 2K 2

4069 [HAHEE| kEiE | BEKH 5.9
4070 |[HAHEE | kel | 2K 6

4071 | HFHEE] ke | s 8

4072 | HAHEE| kek | 2KE 3.3
4073 [HAHEE| kEiE | BKw 0.6
4074 [ HAHEE] kel | 2Kl S

4075 [ HAHEnE | ke | X|EdE 4

4076 |HFHEE|] Kan | 2KE o.1
4077 | HfHERE | ke | REiE /.6
4078 [HAHEE| kEiE | 2K 8.2
4079 |HFHEE] xaw | ZEXES 9

4080 [HAHENE| kEitE | B 11
4081 |HFHEnE | ka2 7.8
4082 |[HAHENE| kEiE | AR 2.2
4083 [HAHEE| kEiE | Siam 3.8
4084 |HtFHEE| K | B 4.2
4085 |[HAHEE| kEiE | 548 2.7
4086 [HAHEE| kEk | ZKH 1.5
4087 [HAHEE| kEiE | 2% 3.1
4088 |HAHEnE| kEk | Rtk 0.48
4089 |HfHnE| ke | 2EH 4.3
4090 [HtFHEE| K | R 6

4091 [HAHEE| ke | BER 111
4092 [HAHENE| kEiE | Sacit S.7
4093 |[HAHEnE| ke | 2 0.9
4094 |HFHEE] ke | 2K 2.9
4095 [HAHEnE| ke | 28U [.7
4096 [HFHEnE] kmn | joaede 2.9
4097 |[HAHEnE| ke | Rars 14
4098 |[HAHEE| ke | 2K 4

4099 |HFHEE| K | BEKAE 2

4100 [37HdnE| ke | BitR 45.8
4101 |HHHEE] kan | 2 K%E 4.2
4102 [ HAHERE | ke | Sl 71
4103 |[HAHEE| keE | SR 6.1
4104 [HFHEE] Kotk Fi5 3.3
4105 [HAHERE| ke | ke 4.1
4106 |HFHEnE ] ke | Sk 3.8
4107 [HAHEE| ke | BKE 4.4
4108 [HAHEE| kEiE | BZEW 5.1
4109 |HFHEmE] ke | 2K 3.5
4110 [HAHEnE| ke | 24T 6.9
4111 |HAEE] kan | 2K 2.6
4112 [ HAHEE | kel | 2K 1./
4113 [HAHEE| ke | BRars 2.7
4114 |HAEE] ke | 2KIE 3.2
4115 [HAHEE| kek | 2K 5 7.3
4116 | HFHEE] Kawn | 2L 5.7




4117 |HFHEE] K | Bk 1.8
4118 |HtFHEE| Kan | EEGE 1.5
4119 |HfHEE] ke | Bue 84
4120 [HAHEE| ke | 2KE 4.7
4121 | HAHEnE | ke | Rt 4.5
4122 | HAHEE | kEibE | M 4.4
4123 | HAHEE| ke | Ddgit 4.1
4124 | HAHEE ]| ke | 2K .9
4125 |HFHEE | Kan | BRIgie 2.5
4126 | HAHEnE | kEE | St 12
4127 | HAHEE| kEiE | R S

4128 |[HAHEE| kEE | ZEKA 4

4129 |HFHEE| Kan | Rar s 3.3
4130 |[HAHEE| keE | 2K 4.4
4131 [HAHEE| kEiE | BEE 3.5
4132 [HEE] ken | 2KF 5.2
4133 [ HAHEnE | KEibE | EXEER 3.3
4134 | HAHEE]| ke | RaEa 11
4135 |HAHEnE] ke | Se 04
4136 | HFHEnE | kmin | ST 41
4137 | HAHEE| ke | 2K 4.7
4138 | HAHEE| ke | REE /.3
4139 |HAHEnE] ke | 2k 2.2
4140 [HMNENE| ket | KK 3.2
4141 [HFHE] ot | R K 2.2
4142 | HpHEnE| ke | RZBUE 14
4143 |HFEE|] katr | ZEN] 2.7
4144 | HAHEE | kes | RS 95
4145 [HAHEE| kEiE | BEs 1

4146 | HpHEnE| ke | ZRKAE 6.5
4147 | HrEE| xanw | TRE 15.5
4148 |HAHEE| ke | 24H 2.3
4149  |HAHEE| kek | 2R S

4150 | HtRHEne | ke | BRI 2

4151 |[HAHEE | ke | B4 1.5
4152 |HFHEE] Kl | 2aesl 2

4153 |[HAHEE| kek | RiEER 8

4154 | HpHEnE| ke | RiEsr 0.7
4155  |[HAHEnE | ke | Rt 2.6
4156 |[HAHEE| kek | T 1.9
4157 | HFHEE] Kan | B 1.8
4158 [HAHEE| kEE | TR 0.5
4159  |[HAHEE| kek | TAR 11
4160 [HFHEE] Kan | R 2.3
4161 |HFHEE| Kan | R 3.6
4162 | HFHEE] Kam | ekl 3.3
4163 [HAHENE| kEiE | TFaat 4

4164 | HFHEE| Kan | EZE8R 1.3
4165 |[HAHENE| ke | ZigaE 1.8
4166  |[HAHEE| kEiE | EE 1.8
4167 |HFHEE|] Kan | TATR 3

4168 |[HAHENE| kEitk | EEM 1.7
4169 |HFHEE| ke | T 2

4170 [ HAHEE | kel | T aA 1.9
4171 [ HAHEE | ke | SR 0.7
4172 |HFHEE] K | TAR 2.3
4173 |HFHEE] ke | e 5.5
4174 |HFHEE] kawn | EZERE 3




4175 | M EE| ke | TER 0.4
4176 | HPHEnE | ke | a0 L 3.1
4177 | M EE| keE | TG 3.1
4178 |MAENE| Atk | (P0G 19
4179 |HAHEE| Keitk | ROGE 3.2
4180 | HpHEE| ke | EAT 1.3
4181 | HPHEnE| ke | AR 9.7
4182 |HEE| ke | BB 3.9
4183 | HSfHEE | K %IK?IE‘%Z 1.8
4184 |HAHENE| ke | 2 1.8
4185 | MIEE| kmth | B0k 0.6
4186 | HFHEE] KEk %H%m 1

4187 |HFHE|] ke | £7 0.7
4188 |HFHEE|] can | =5 ik 2.7
4189 |[HAHEnE| kEbk | £l 3.2
4190 |HFHEE| ke | EEE 3.8
4191 [HaEE| e | E m?'f 1.8
4192 | HpHEnE| ke | Esld 1.2
4193 |HfHEnE | kawm | Bk 2.3
4194 |[HAHEE| keE | E2BE 4.8
4195 |HFHEE| Kawn | ESEA 2.1
4196 |[HAHEnE | keE | XE%E 2.6
4197 |[HAHEE] ko | EEE 1.3
4198 [HFHEE[ gt | ZALH] 3.6
4199 [HAHEE| kel | KK 2.7
4200 |HEE| ke | B3R 4.3
4201 [HEE] o | EUA 2

4202 | HFHEE] Kan | B2 0.6
4203 | HpHEnE| ke | EE 1.7
4204 | HAHEnE| keE | 2T 1.6
4205 |HAHENE| kEiE | TFeat 12
4206 | AHEDE | Kbk Bk 1

4207 | HpHEnE| ArlE | BE4A 1

4208 | HpHEnE| AnE | kA 1.5
4209 | HpHEnE| AwE | R 1.2




